0110 000o00oFEMOO

gboboboobobooooboobobooooobooboooboboobooooooooobooobo
000000000000 (relaxation methods) OO Laplace 00O O Poisson 000000000000
00000000000000000000 100000000000000000800SouthwellDOO0O
gboooboooirooobooooboooboo2b00obo0ooooboooobooboobooooobooOoDn
000000000 (methods of characteristics) 00 0000000000000 0O0O0O0OODOOOOO
oo0000ooo0o000oo00000o0ooO0000O0000000O000000OO0O0000O000OO0O0
000 (characteristic curve methods) 0000000 OO (hodograph characteristic methods) 0 0O 00O
gboboboboobobooooobobobobobouobooboooooboboboboboboba
00000000000000000 (panel methods) D 00000000000 DO0O0OOOO0OOOODO
0000000000000 0000O00000C00O000O0000000000O0

000000000 00000000000000000000000O000000O0OO0000O00OO0
OOo00oo00ooo0o0oOo0o0oOoO00oOo0o0oo00DoOU0000 RwerCO00DOOODOOOODODOO
oo0000oo0o0000o0o0ooO00000o000000000000O00000O0O0O00OO0O0O0GOOOO0OO0
000000000000000000000 200000000000000000000000O00O
0000000000000 00000000000 LaplaceD 00 (000000 )00O0O Poisson 00O
0(00000)00000000000000OLaplace0 0000000000 O0O0OOODOOODOO
0000o0000b0000000000

0000000000000 00000000000000000000000000000 (FEM) O
gbobobgbboooooooobobobobobboboboboboobooboboboboba
ooboobbOoboo0oobooooboboooo0oo0oobDo0DbObO0o0DOU0DbOOg PoissonD OO
00000000b00000O00000000



2 00000000000 FEMOO 0000OD

11.1 O0ooogogd

FEMOOOOODOOODOOOOOLaplace D000 Poisson 0000000000 DO0ODOO (elliptic
partial differential equations) 000 0000000000000

0000000000000 0Do0o0O0 n00D0 KODOO0D0O00ODOO0DOO00O0O0OODO0On
go0bo0d0bOnO0O kOO0O0ODOODOO kOO0 100000CO0DOOODOODOODOOODOODOO
000000'00000000000000000000000000000000000000000
0000 (elliptic) 0000000 0D0O00D0O0O0O0OO0O0O00O0O0OOD Laplace 00O O Poisson OO
0000000000000 0o0o0o000000O000000DU0oDOoOOOOODOOOO]linear, semi-linear,
quasi-linear 0 0 0 00 0 0 0 Monge-Ampere 0 000000 genuine non-linear 00000000000
0000000000000 0ooo00oo00oo0o0oooooo0oooooooooooooon
000o0o00oo0o0oo0o0ood0ooDo00ooOo0ooooooOooU0ooOo0oooooooDOooon
O000ooOo00ooooooooo0ooDoo00ooooooooo0oooooooOooDoogo
O0000oo00o0oDoooooooooooooo

k000000000000 L(wy=000000000000000 ODD0ODOODOUDOUOOOOOO
000000000000000000 k-100000000 u, duon, ..., 0 lyonF~t 0000 k/2
00000000000000 9gon=n-VOOO (DOD0O0OO0)000p00000O0O00OOOOOOO
000000000 200 Laplace 00000000 O0OOOODOODOOOD OO0 «00000D0O0OO
uw, =0yOn000000000000000000000O00000 k/200000000000000
OO00000o0o0o0oDooooooooooooooooooon

O00000DO0OD0O00O0OD0O0OO0D0O0ODO0OCO0OOLaplace 000 Poisson0OOOO0OODOOODO0O
oog

Au=0 (11.1)
Au = —wpu(x) (11.2)

000 A=V?0 Laplace 00 0000000000000 000 8%0922+0%0y*00000 0%02%+
0*/oy*+0%0-? 000000 w, 000000000 we=2r00000 w3=4r00000000000
0000000 2«00000000000000000000000000 000000000000
ug,...000000 200000000000 Laplace00000000000O0 (harmonic function)
0000000000 00000000 Poisson 000 Au=f0000f>000000000000
f<000000000000000000
Laplace 000 (11.1) 00000 ¢é00 200000 r=2-£€000000
%log% (n=2)

u(z) =~(r) = 1 1 (11.3)

e P

00000000 »=0000000 (characteristic singularity) 00 000000000000000 w,
0000000000000 00000000O0O0Poisson 000 (11.2) 000000000 p(z)0OO

l16.1 0000 17.1000
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GO0O00o0oopooopoooo

[ tog - ute) de (0oD)
u(z) = ¢ 1
JRLGE: (0oo)

r

(11.4)

00000000 w(z) 000 100000000000000 u(z)0 GO0000000000000
w(z)0 20000 GOO00000000 w(z)O Poisson 000 (11.2) 00000 (00)00000 OO
00000000 00 GOO00000 u(z)00000000000000000000000

0000000 (Green’s formulas) 0000000000 00000000 GOOOOO rogQ
000000000000 000070000000 DOD0DO0 G+I'00000000GaussOd OO
JoVXdr= [(nXdsO X(z)=-v(z)Vu(z) 000D00000000000

/Vu-Vvdx —|—/vAudx:/vunds (11.5)
G el r

000 up, =0udn=n-Vulu(z)J GO 200000000G+I00000000w(x)0 GOOODO
ooooG+roooooooooooooooooooooooooooo

/VwVvd:L'Jr/uAvdx:/uvnds
G G r

gbooobooboobobooboobooboooo

/G(uAv—vAu)dx = /(uvn—uun)ds (11.6)

T
O00wuwz)0vw(z) 000 GO 20000000000 G+I'00000O00OOOOOOO
0 (11.5)0 Au=0,v=1000000 GaussOO OOO (Gauss’ integral theorem) 000000

/undSZ/Vu-dSZO (11.7)
r r

O00ds=nds0 I'00000000000000O0000O00w(z)0 GOOOUOOO G+I'onoono
gboboobobooboobobw,0bob obooboob0oboobooboobooono

000 (1150 u=v, Au=0000000 Dirichlet O O (Dirichlet’s integral) 0 D 00 00O

/(Vu)Qd:r:/uunds (11.8)
G r
000000 wuw(z)0 GOOOODOOOG+IODO0O0OOOOOOOOOOOO

e [Du=0000w0GOOOOOOOOOO




4 00000000000 FEMOO 0000OD

e '0Dw,=0000 w0 GOOOOOOO
Laplace OO0 OO00DOOOOODOOOODOOOODODOD

00000000000 «(x)000000‘00°02:0000000000000000000000°
0000 Lipschitz 00 O O Lipschitz 000000 |u(zy)—u(w)| < kla1—2| 00000000000
000002, 000000002,-200000000000000000 (u(z1)—u(zo))/(z1—2) 0 O
000000000 «0000000000 w00 2 000000000000000000 u(z)=+z
000z>0000000002=000000000000000000000000000 Hélder O
000000

lu(z1) —u(zo)| < klz1—20]%, O0<a<1 (11.9)

O0000000000000 uw(z)00 (11.9)000000000wu(x)0 «00 Holder OO OOOODO
O000z>00 v2000<a<1/200000 (11.99 0000000 1/200 Holder OO OO OODO
0000 (piecewise continuous) 1 0 0000000000000 OO0OOOOOOOOOOO

nO000000 (n-time continuously differentiable) 00O 00» 0000000000000 OOO
000000000000 00 GO n0000000000wx)00uweC"inGOOOOOODOOODO
00000 GOOO0OD0OD w(z)00000 00000 uw=¢00000000wueC’inG+I'000
O00000D0000000000000000000 (analytic function) 0 0000000000000
O0000000000000000000D0000 (regular function) 0000000000000 0O0O0O
00000000000 0000000000000000000 (smooth) 00D 0ODOODOODOOOODO
000 (sufficiently smooth) 000000000 0D0ODO0OO0OO0O0OO0O0O0OO0O0O0OOOOOOOUOOOOO
ooooooooooooooooooooOoOobooboOooOOoOoOoOooooooooooDOoObObObObCbObn
ocooooooOoOOD0OO000 OO00OO000000000000000000000000000000O
Taylor 00 0000000000000 OOOOOOOOOODODODODODDO

000000 (mean value theorem)d 000000000 PODOOOODO0OOODO0OOOOOOO
0GO0000000000 (11.6)0 Au=0, v=1log(l/r) (000), =1/r (00D0)00000000
00000 (11.7) 000000000 0000000000000

P ds= 1i ds = oogd
2R [‘u s Rérgo 21 Ry /rou s ( )
1 1
= 1li —_— = oogd
R /Fuds R;IEO IR /Fou ds =up ( )

ob0 R, RpOODOOOOOOOOODOOOOOOOOOPOOOOODOOwpOOPOOOOODOOO
goobobobooood «0bo00o0ooooobobbooobbb«000obbbbooooobbbod
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(closwre) G+I'000000CO0O0OO0 POOOOODOOwp 000000000000 ODOwO00O0OOO
obooobooooooboobooonog

000000 (maximum principle)0 000000000000 w(z) 00000 GOOOOOOOOO
gboooooodbwO0bobooooobogobob rogbdbw000ob0obo0ob0ob «0bO0DbOoOo
000«.000000000000%000000000 ¢000000

VAp=NA(Ve)=—Au=0

Ob0fd«.00000000DO000 DOOobOooboboboobobobooboooobooboobooooo
OO0OPoisson 000 Au=f000000f>0000 w(z)000000000 I'000OoOOoooOO
ooooroopooooooooooooobooon0 fsoOODOOOOODODOOO rooooODOO
oboooboo rooooooooobooboonoo

-
K auside

0000000000000000000 :000000000000000000000 0000
00000000000 GOO000000 GO0O0000000000 (11.6)0 v = log(l/r) (D0D0),
=1/r(000)00000000000000%0

1 1 1 1 1 1o} 1
u(z) = —g/GAu(ﬁ) 10g; dé + 571{””(0) log; do — gﬁu(o)a—n (log;)do (0DO0) o)
1 1 1 1 1 d /1 '
u(z) = —g/GAU(ﬁ); ¢+ ];/Fun(a);do — E/Fu(a)a—n(ﬂda (0oo)
Wn (z inside G)
pP=1q wn/2 (xonI)
0 (z outside G)

ooo rzf—foFf(U)dUD GO000000000D0w,000000000 2700000 4700040
00000ueC?inGlueClinG+r 000

e 00 GOOOO —Aujw,=p00000

e 00 I'0UODO uy/wy = p O single-layer

2G00000000000000000000000 GOOOO000000000«0000000000000000000
goooo0oooooo0ooooO0o0o00oooOoOo00oOoOO0O00O0OO0OO00 oOoOoOoO0oboooOoOoOoOoooooo
30000 23, 0000000000 ILOOOOO

. 1 . g /1
7}1_% /Foun(cr);da =0, 1}1_1% Fou(cr)% (;)da = 4ru(z)

40000000000 ¢000000000000 x000000000000000 (11.4)000000000000000
gooooooo0ooo 0000000000 OO00OOO00O0O0DOe¢00000000 0000000000 000000
goooooooo ¢oopooooooOoooooOooooooOoOoUOoOoOOoO0oooOOoODODO0OOOOO0ODOOOOOOO
oo0oO0ooooooooog
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e 10 I'0UO0O —u/w, = p0O double-layer

0000000000000000wp000000000p, p 000 0single-layer 0000 (0DOO)O0O
00 (000)000000000000000000000000000 double-layer 00000000
ooo0oOoO0o0oO0OoOooooooooOoOoOOoOoOoOoOo roooo0OoOOOOOOOODODOOO GOOO
oboo0o -0obooooboobooobooboo 400000000

o single-layerd] ut =u~ =wug, ul —u, = —wpph, uS =u; =uy

%Po, ul = uy,, Uzr—utozuto—ufz%ﬂto
J00d0do0o0oDoOO+0000000000oDoooooDDonDon0n Posson0O000O0O0O0OODODOO
00 GoOO0000 Awu=f0 00 7I'00w000w,, 00000000O000O0O0OO0OO I'o00 w0 O
ododouobodobw, 00000 w, UO0O00D0D0D000000 «0000000000 (11.10)DD
dboooooooobooooooboooooo

wO0OOO0O0O0O00O0O 00000000 GO Ap=000000 I'0ob00ooOoooDOoOooOon

00000000 ¢, 00000000000000000O0O0OOOOO (11.10)000000000

e double-layerd ut —ug=wug —u~ =

o) =~ ot0) 5 (tog ) do (0oo)
1 0 /1
o(r) =~ | 9015 () do (0o0)

OO00000 rdd doublelayer 000 O00C0O0O0O0OOO00O0ODODOO0OODOOOODOOOODOO
oooooo rooooog ¢, 0000 O0O0ODO0O0O0ODOOOO0ODODODOOO0DODOOOODOODOOOn
¢, 0000000000000 DDO0O0O0ODOO
ubboobooobuoobboobuooboooboooboobboobooboooobaaboo
gbooobooboobobooboobooobuooboon

C:?(u-ds:—j{VqS-ds:gbs—d)t

ooo fl]DDDDDDDDDDDDDDDDDDDDDDD sggbooobootobooboooooan
gbooooobobooboboobobobeUbbbobOobDOobOobObOOobOOobDOobOobObOODbDO DDOoD
0000000 (ewt) D00DD0O0O0O0O0O0D0O0ODOOOO0OODD (ump) JDOO0OODO0OUODOOODOOOODO
0000 ¢, =000000000000 ¢,=00000000 0000000000 O0ODO0O ¢=00
OOo0oOo0o0oboOo0oOooooOooob0d ¢o=0000000000 pO0O0ODOOODOOODODODOO
U000 KuttaODOODODODOOOOOOODODOOOOOODOODOOOOOODODODOOOOOODOD
ooooooooooooooD -, 00b0O0ooooo00oooOoo0oobbooooDooboOoo
00000000o000000o00U0000O00O0U00O0L00O00O00O0 DUDO0OU0 (Do)oooo
OO0O00oDoO0000b00downwashOOOOOOOOOOOOODOOOOOOOOOOODODODOO
gooobooooboooooboobooboboooboooooboobb0ooDobOooDobobOoDUoDbO
O0ooooooooooooo0ooooooooooOoooODbO0O0O00000000o00dKuttad
oboboooboobooooooooooooobooooobooooboobOOobOoOOobobOobobobon
000000000000 (00)0o000000o00O00DO000O00O0U0O000o0O0O0oO0OO0 ooooo
oooooboobobooooooob0oboobooooDoD kattaDDooooooooboboOoo
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gbobooooooooboooooooooooooboooooboooobooboooboobobobobobon
ooooooo

Laplace0 00000 Poisson 0000000000000 OCO0OOODODOOOOOODODOOOOODODOO
0000000000000000000000000000 (Dirichlet’s problem) 000000 u = ¢(s)
on 0000000000 Au=f(z)0 GOOOOO uw(z) 0000000000000 f(z)00000
O0000uweC’inG+I'00000000000OO (Neumann’s problem) 00000 u, = ¢'(s) on I'0
u=ppatz=xp e 0000000000 Au=f(x)0 GOOOOO«0000000000O0O0OO
f(x)0000000000weC*inG+I'00000000000O0O0 (mixed boundary value problem)
0000 Ir'o00000d00w=¢(s)000000000000uw,=¢/(s)000000000O00O0OO
ooooood

000000000000 0000000000 (stream function)y O

v=tnt [iuxdss w=v =t

Zo

O000000000000 LaplaceDO0O0O0O0OO Poisson 0000000000 DODOOOOOCOOOOO
obobooobooooooooooooooooooooooooooobooboOobobobobOobon
0000000000000 00000000000 (revolutional surface) 1000000000000
gboboooobooooooooooooobooooooboooooooooooooboooobobon
obocobOobooobooboooooboboooooboooobooooobobobooobOobooonoOoDn
goboooobooooobooooboobooboooobooooooobooooooobobooobooooooboon
oooooobooooooooon

gobooobooooooobooooboboooobooobo0ooboooooooboooooboooooonn
ooo0oooooO0yp0DOOOO0ODOOOOOOODOOOO0ODOOOOOOODOODOODOOOOOODOO
O000yp 000 KuttaJOODODOOOOOOOOOOODOOOOOOOOOOOOOOOODODODOO
gboooooooooobooooooooooooooooobooooboobooboobobobobobon
boboooooooooooooooooooobooooboobOobOobobOobobOobobobon
ooboooooboooboooboobooobooboooboobooooobooooooobooooobooooooon
gboobooooboooobooooooooooooooooboobobobobobOobOoboboboo
OO0 KuttaODOOOOOOOOOOODODOOOOOOOOOOOODOOOODODO 11300000000
ooooooo

oboooooobooooooooboooooooooboobooboboboobobobooooobooooboon
gobooooobooobooooobooooooooooooobooobooobbooboooobboooogo
O0000 ¢o0DO0OO0O000D0O0D0OO0O0O0DO0O00O0 ¢0O Laplace0O0D0O0OO0O0O0DDOOODODOOO
obobooobooboooooooooooooooobooboobobOobOobOobOobOobobobobon
goboooboooobooboooooooobooooooooooooobooooboo0ooooooboooooooon
goooboooboooooooooooooooobooobooobooboooboooboobooon
O00o0o0ooooDooo0d ¢,=00000000 ¢,=*xnw0000«00000000000000 ¢
ocoooooooo ¢, =—w,, 0000w, 0000000 O00DOOOO0ODOOODOOO0O 90 ¢,00
gbooboooobooooboooooooooooboooboobobobob0bobOoboboboboboo
uboooooboobobob 114400000

000000 (Green’s function) 000 0000000000000 0O0OO0O0OO0OO0ODOOOOOOOO
000 00000000000 00o00o0O0Uo0 GUoO00 Av=00000000 K(z,$UOOGO



8 00000000000 FEMOO 0000OD

00 0000000000000 00O0O00DOO0DOOn
Kz, &) =~ +w (11.11)

000~(r)00 (114) 000000 z=¢600000000000000 Ay=000000000 w0
G+Ir0000GO Aw=0007000000000 K(z, &) =0000 Ku(z,£)=00000000
000000000000000000 K(r, € =K(¢+)00000000000000000000
0000000000000000000000000000000000000000

0000000 Laplace 000000 Poisson 000 0000000000000 00 Dirichlet 0000
O00u=¢on 0000000000 Au=f0G+I'00000GOOO0O0«0000000O0
0000 (11.6)0 v=K0OO00000 (11.7) 000000

u(z) = —/KAudf —/Knuda—i— Ku,do
G r T

OO0 Au=finGu=¢on [0OK=0on ['O000000DOOOOOOOOOOOOOOOOOOO
oooooooo

U(w)==-J{f¥(w7£)f(£)d§-—jﬁlfn(x7o)¢(o)do (11.12)

00 Neumann 000000000000 u,=¢' on 'O0000000K,=00on ’000000000O
gbooobooboobgobooobooboo

u(z) = */K(x, §)f(&)ds + [ K(z,0)¢ (o) do + const. (11.13)
G r

OOOconst. 0000000000 up=9¢atPel 00000000 OCOOO0OODOOOOOODOOOO
bobooboboobooboooooboobooooboooobooboooobooboooboooboon

000000000 (Poisson’s integral formulaJ0000000000000000000 GO Au=00
O000TI'du=¢00 Dirichlet 00 0000¢ 000000000 Poisson 000000000000

u(x) = B =p) (Li —r)

r? = p’+R*—2pRcos b

2 o, (11.14)
Tzn

000 ROOOOODOOODOO0ODOOO0ODDOOpOO0OO0O0O0DDOO0OD x:00000O0,0D0 200 T
ooo¢0OOOOOOODOOODOOOOOOOOOOOOOOOOOOOOOOO0O0 GUOOoOoOoOOg
00000 POOOOOOOODOO (reflection point)P, 0000000000000 OOOOO

K=9(r)+w=
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00000000 pOO0DODOOO R%pOOOO AOPQDO AOPQOOOOr:p=r:RO000000
00 KOoOO rogobboooobobobooooboobogobo rogooooboboooobooo

0 b R2_ 2
K, = COS(AOQP)E'Y(T) - COS(AOQPl)a{Y (%) _ Rrp 7/(7")

oboooooboooooobooon

_ R*4r2-p? _ R4 —(R%)p)?
cos(LOQP) = TRy cos(£0QP) = 2Rr,
O L iy Oy _p O P
5, (1) = o1 (r), arfy( R) =~ Ra W =RY™

00 K,0OO (11.12)00000000000000Ooooooo

’ Poisson’s integral formula ‘

:

1 ¥
analyticity of ’ mean value theorem ‘
harmonic function .;L

’ maximum principle
Py

v vy

’ uniqueness theorem‘ Weierstrass’ convergence compactness theorem ‘
theorem
I E— |
reflection principle ‘ l '
existence theorem
of solution

0000000000000000000O00oo00 (Do0oo)oooooooooo (111400 P
OoooooooocooooooooDooO p=0,r=RO0OD0O00O0O0O0CO0OO0O0OODOCOOOOOO
O Laplace 000 Poisson OO0 0000000000000 OO0O00000O0O0O000O0ODODODOOO
0000000000000 0000000000000000000000 (uniqueness theorem) O 0O
good

00000000 (analyticity of harmonic function)00 0000 GO0O000O0O00OODOOOOO G
0000o0o00o00oO0O0o0OOo0oO00o0O0000o00D (oO)DooooooOoooooooooooo
000000 (regular) D000 (analytica) 00O O00O0O0O0OOOOO

00000 (reflection priciple) 100000 GOOOO000O0O00 G+I'000000 000000
00000000 [, 0w=00000«00000000000000000000000000000
0 (0O)d

O0000 Laplace 0000 Poisson 00 0000000000000 0OO0O0O0O0O0DODODOODOOO
gbooobobooo2000b0000000b00000b0000000

ik, 2, + Z biug, +cu=f (11.15)

n
ik=1 i=1

L[u] =



10 g0o0oDo00o0ooo0 FEMOO O000DDO

00000 GO0 f, air, bi, c € Cio 00000000 2000000000 w0 GO0 u€ Cryora
00000000000000 I'00000 ¢ € Cnyota 000000 «0 G+I'0 4 € Cppora 00
000000 Laplace 000000000 ay; =ag =1, ap=b =by=c=f=0000000000
000 €C, 00000« 000000000000000000000 Poisson000000 f000
G0 200000000000000010000000000000 feC,00000uweC000
0D0«w000100000000200000000000000000000000000000000
00000000000 1000000000000000000000200000000000000
0000000000000000«000000000000000 GO00000000000000
«w0000000000

00000000 (111500 «0000 GO0 f, aix, b, c€ Co 0000000 I'00000000
000000000000000000D00000000000 GO0000000000000000
00000000000000000000000000000000000000000000000
00000000000000000000 I'00 POD0O0OOOOOOOD GOOOOOOOOOO0O
000 (11.15)0000000000000000000000000000000000000000 P
000000 u(r, 6) 0

u(r,0) = up+ao(0)r® +ay (0)r**+- - (1/2<a<1)
T
4= 2T —¢

O00o00ooooooob0o r0dd o000 HoderODOOOOODOODODDOOODODODOOOOOOOOOO
0000000000000000000000000000000O0000°0

00000000 (111500000000 GO0 f, ag, b, ceCoe 00D0OD0ODOOODOODO I 0
000ood0oDoouoooooooooooooG+HIo00ood w00, 00oo0ooooooooo
0000000000000 00 GOO00 «.0000000000000D000O0000O00O0000Od
00000000000 (improperly-posed problem) 0 D0 0000000000000 0O0O (smoothing)
gooobobobbooooobobbbboooooobbbooooooobobo

S0 3000000000000 wu(r) =wup+aer®+a1r2*000000000000000000000000000C0O0
000 20000000000000000u"(r) = apa(a — 1)r*"2 4+ a12a(2a — 1)r2*~200000 ag, e 000000
w; = ug + ap(1Ar)* + a1 (iAr)?®, (i=1,2)000000000000000000

" 11

W =S5 [aza{(a_ma —2(2a — 1)} (w1 — uo) + af— (a—1) + 22 — 1)} (us — uo)]

000 A=2%2>-1)0
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11.2 000000000 0oood FEMOUO

00000000000000000000000000000000 (revolutional flow surface) O O
goboooooooooobooobobooobooobooooooboooboooooooobooboooooboooon
gobooooboooobooooboooboooooboooobooooooobooobooooobooooooooon
00000 (FEM, finite element methods) 00 0000000000000 O0OOOOOO

11.2.1 000O0O0O0OO0O0O0O0bO0

go0oooooooooooooooooooog 00000000000 0g Z/’r:f,@:nDDD
O000000¢LO000D0000O000D00O0000O000o0o00oooUooOz2r0000DOOd
0000000000000 LaplaceDOODOOOO
02w 92w
—+——=0 11.16
2e2 T o (11.16)
ooo LPDDDDDDD|:||]DDDDDDDDDDDDDDDDDDDDDDD(streamfunction)l:l[l[l
00z 600000D0O00DOODOODO

_low _ o
Y=="%0 T "o
00000000000000000000000000000000000 méO00000000

dm/r=d¢,dd =dn0000m0000O0O0O DO0OOOOUOO0OO &OOO0DO0O0O0OO0O0O0OOOODOOO
U000D0b0o0oboobooboOn PoissonDOOODOOO

(11.17)

0 9 9 o 9. v .
57524_37772 = a—g(lnbp)a—€+afn(lnp)a—n+2wr bpcosd (11.18)

gboocooobooooboobooooooboono

1 ov 1 ov
BN Lo 11.19
v rbp 00 v bp Om ( )
000 0000000000000 OOO0UODOOSODO0OUOO0OODOOUDOOUOOO0ODOwOO
000000000 D0p00000D000DDODOOO0DODO0ODOOODODOO0ODOOOOb=1,coséd=000

gbooobooboobog p=10000

b(pw.+Af (bpwmr+Am —(wm+A8 (wur+Am
x9(pw.)/00) Am X A (bpwmT)/Om) A X Owm/00) Am X O(wyr)/0m) A0
S
rAQ Wm Am
—bpwp,r A —bpwu Am —wy,r A0 —2w cos &

(a) (b)
0 (11.18)000000000000()000000000000000 AmxrA900000000
00000000000000000000000000

0 0
%(prwm) + %(bl’wu) =0



12 g0o0oDo00o0ooo0 FEMOO O000DDO

O (11.19y000000000000000000O00OY 00000000 (h)oOoOOOOCoOOoOOo
goooCoCoQOQ0OO0O0O0O00O0000U0U0U0Y 2wUOOOOOOOOOOOOOO0O000 —2wcosd
oooooobooogoooo

0 Ow,y,

o ") — 50~

00000 (11,19 000000

= —2wr cos

o /rovy 9,1 0w
O (ro¥yN 91 0¥ _, 5 11.20
8m<@6m)+%<wp%) wrcos (11.20)
000000 rddm = o€, /o9 =9on000 D00 (11.18) 000 0060

0 (11.18)0000000000000000 r=r(z)000000000000 6=6(m)00000
0000 NOOOOOO0 00000000000 wey000000000000000000000
000000000000000400000000000000000000000000000000

000000000000 0000b =const.=1000000 (11.18) 0 (11.19 000000000

Uee + Wy = —(In7)eWe + 2wr cosd (11.21)
Wy, = ¥y, Wy = — (11.22)

000 (11.21)000000000000000000O0OO0O
rhs = —(Inr)eWe + 2wr cos 6 = (wy,+2wr) cos 0 (11.23)

gbgbogbooboboobobobuodbotuboboobobobuobbdbubilwO0ooo
v=wi+wxrJO0OOODODOOODODOOOOODODOOOOOO0ODODOO0OOO00bOoO0ooOobOo0oDboooDon
gboooboooooogan

w? = v+ (wr)?—2wrv, (11.24)
a = tan" (v, /vm) v “*(
B = tan" (w, /wy,) wir|
Um = Wm
Wy
w

00000000 (11.21)000000000000000000OO0O0O00O0O00O0O0O0 Dirichlet O
000000000000 Neumann OOOOOOOOO0OOODOOODOOOODOOODOOOOOOOO
oono

0000000w=0, 0000000V =g, (11.25a)
000000D000% = —w,, (11.25b)
000000%(mo+t) =%(no)+q,  ¥n(no+t) = ¥y(no) (11.25¢)

Su(z) 000 d(lnw)/de = (1/u)du/de0 OO0 ud(1l/u)/de = d{In(1/u)}/de = —d(Inw) /dz0
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O00¢g=w,t000000000000¢t=2x/NO &OOODOOOODOOOOOOOOOOOOOO
0w, 0000000,y 000000000O000O0C000w,, O0KuttaOOOOOOOOOOOOO
gbooobobooooboooooooboooooboboobooboooboooooboboooooon
0000000000 00000000000 (FEM)ODO0D0O0D0O0O0O0O0ODODOOO0OO0OOOOOD 1
000000 Galerkkin FEMOOOOFEMOOOOO 9.10000000000000CO0ODOOO0OOO
gbooobOobo0ooboobOOoFEMOOO0OO0OVOOOOOOO10000000000000000A0

11.2.2 000000000

0000000000000 0000000 (elements) 00000 (00 00O Omesh discretization)d O
00000 100000000 10000000«00000D0OO (nodal points) 00000 OOOOODO
ooboooboooboboOooooooboooboooboooobooooboooboooobooooboooobooooobooon
gogbooboobobooboobobooobooboobbooubobooobboooobLbooob o
gooobbbbooooo Moo bbtbooooobbbbooooUubo

M[0OODODO0), [0000])=[0000]

3 4

1 1 2
gobo1goo goob 1000

0000000000000 0000000000000000000000000 (interpolation function)
gbooobooboo1b0boobiod «,y0 1000000000 0O0DOO

u* () = c1+eoxtcsy (11.26)

O00¢, (¢=1,2,...)0000000000000000C0O0O0O0OOOOOOOOOOUOOOUOOOO
(11.26) 0000000000000

Uu; = C1 +02Ii+63yi (Z = 1, 2, 3) (1127)

0000000000000000 000 10000000000000000 000000000
00000000000 000000000000000000000000000000000000
00000000000

w00 (11.26) 000 ¢1, 2, c30 1000 ¢y, ea, 300 (11.27) 000 g, up, us 0 10000000
0w 0 u,u,us 0 10000000000 «*000000«00000 1000000000000
ooooo

u(z) =d(x) u (11.28)

000 ¢(z) D00O0ODO (shape function0 O 00O base function) 000000000000 O0COOOOO
obobocooobobooooobobbo«w000OwOO0obOO0obO0ooOoob0ob0oooobo0obbo 10000
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oboooboooooogao

U
¢=1(419293), u=|u (11.29)

u3
0 (11.28) 00 (11.26) 0 (11.27) 000000
c1+eaxtcsy = (c1+cowy +e3yr) o1+ (c1+cowa+c3y2) 2+ (c14cow3 +c3y3) d3

U000, c,cs000000000000000DO000O0O0O0OO¢y,c0,c30000000000000
gooobooogn

1=¢1+pa+ds
T = T101+Tod2+T303
Y = Y101 +Yy2¢2+y3¢3

000,000 1000000Cramer000000000D0 10000000D0D000O00O0DOOO

1 1 =z 1 = »n 1 =y »n
= (¢1 92 </>3)=Z 1 2 yo 1 z g 1 xz9 yo (11.30)
1 23 ys3 1 z3 ys 1z y
goog
1 =1 wn
A=|1 zo yo (11.31)
1 z3 y3
oooooo

To—T1 Y2~

T3—T1 Ys—Y

= }(ZQ 7.’1,'1) X (237.’171)|

0000000000000 0O0O000O0bO0O00OOO0 2000000000000 (11.30)000000O
000000000 0000000000000 ¢1(z)002;, 20,2 00000000000000OO
z, 2,23 00000000000000000000000002y 00000 ¢0000 $1(z)000
00002000 1000 2,23 000 0O000O0O0O0OOFEMOOOO « 0000000 OOODODOO
dobo0ooddoobobooooooobooooooobooooooboooa
ou*  0¢;
(%cj:@xj

Ui, / u*dQ = gbzd() (173
e Nne

ooo erdQD 100000000000000000 1000000000¢0 2,y0 1000000
000 100000000070

T 1 - - - 1
P, _ 2 Y27Ys YY1 iTY2 ) 2o (11.32)
by A\zz—zy z1-23 T2—T1 A

00 42’0 x0000000000000¢,, =8¢0z
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200000000000 ¢000000000D0O0O0O0DOOOOO30

I!m!n!

/ (61)! (2)™(¢3)"d2 =
Qe

Jdoool1do000oodooobooo 100000000 o oo oooDoogoogoog
xDDDDDDDDD{DDDDDDDD (—1§§,77§I)DDDDDDDDDDDDDDDDDDDDD
Jdoooooooooooooooo 1googo fl:ll:ll:] nO00010000000000000
goo ¢1(fi)|]i:1[| 10:=2,3,40 0000000000000 00O0O0O0O0ODOO

u*(§) = ¢(&) - u = prus +Pouz+P3uz+Pauy,

) (11.34)
000 &,n 00000000000 , \
K 1 2 3 4 nt
& | -1 1 -1 1
m |l -1 -1 1 1 3
k=1 2

OooobD¢,n00DOO0OO00O0DOOO0ODOOD

1

Ore = o (Ltm), Gy = (1+EO

oooo
¢\ _1(-(-n) 1-n —(+n) 147
by 4\-(1-¢ —(1+8 1-¢& 1+
0oo0ob0odd «z,y0b0O0O0OODO
be\ _ (e ve) (Pe _ 3 Lo
by Tn Yn Py Py
I:lDDI:II]I]DDDDl:lDDDDSDDDDDDDDDDDDDDDDDDDQDDx7£:¢,5(§)~x,---[I
gooooooooooo
1 Y
x
(4w |7
¢m 3 Y3
T4 Y4

ubodbtd000 200000000 OOOOOOOODOO0O0O4

1 1 4
[ on@a@an = [ [ on@a©©dsn =" I€00n €00 (11.35)
—1J -1 k=1

O000J=3/0000000000000 GaussOO (6.1.300000 Gauss-Legendre 000 )OO
0000é&, 7000000 (Gauss0)00000000 +14/30000

89.30 OOOOOOODO
‘000000000000 (iso-parametric element) 1000 « 000 ¢,y 000000000000000000000O0
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11.2.3 00000 DOOO0O0O0bDOOOOoOgoboon

FEMUOOO FEMOOUOOOOUOOUOOOOO FEMOOOOOOOODOO0OOO0O0OO0O0OO (methods of
weighted residuals) 0 O 0 0 O (weighted functions) 000 000000000000 0000O0OO0OOO
0000 (Galerkin method) D00 000000000000 OOOOOOOOOODOOOOPoisson 00O
gooobbbbuooooobobbbooooooboboo

VU = U g+ yy = f(z,y) z el (11.36a)
u=g(s) x €0 (11.36b)
Uy = h(s) x € 08 (11.36¢)

OO00o000 0000 02 =0+002000, 0 Dirichlet 00000000 «000D00COOO
0000 Neumann OO OOO0OO0O0O00O0O000Nn-Vu=2,00000000000000000nO
0000000000o0o0o0o0o000o000o

Galerkin OO OO0 (11.36) 00000000000 0O0O0OOOO0O ¢, 000000000OOOO
gooobooobon

/ (U o +uyy—fopd2 —[ (up—h)ppds=0 (k=12 ..., K) (11.37)
0 9029

0000 ¢ 002y 000000 KDODOOOODOO 1D0DODOOOODOODOOODOOOOODOOOOO
gooooobooooobob oo 1obooobooboooboooooDOo1goobooboooooboo
obooobooooboobooboobooooboooobooooobooobooobooooobooobooooon
O0000¢,#00000000000 KOOO0OOOOOOOOOOOOOOOOO

sl = g
Jaa=%],

000r-0000000), 0000000000000000000000

ooo0oooOoooOoO0o0oooo0ooOo00DOoO00DEder 000000 DD wO00DDOO0ODO
000000000000000 (natural boundary condition) 00000000000 Euler 0000
oooooOoooooboobo0ooobooooboo0ooooOooobooOoooOoOOoooO0oOooOo0oobOboOoOooDo
00000000000 (11370000 Galerkkin0OOOD0O 1000000000000OO0OO0OOOO
OO0 Euler 00O00ONeumann 000000000 CO0O0OOCODOOOOOOOODOOOOCODOFEMOOO
Neumann 00 0000000000000 O0O0O0O0O0O0O0O0OOO0O0O0O0w,,=00000‘CO0’'0O0
oooooOooooooooooooobboOooobOoOoooOooooOo0oobOO0oOoDbO0oobOboOoOooDo
oooogoooooboooooooooooooooooooooooooooooooobooDoobooo
FEMOOOOOOOOOOOOOOOOOODOOOOOOOO0O0O0ooooooooooooooogoog
FEMOOOUOOOOOODOOOOOO (weak formulation) 000000

0 (11.37)00000000000000000C0000O00O0DO0OUO0ODO0OUO0 1000000
0O

(U gz ) ) O = OV = V- (V1) — V- Vu = V- (V) — (g otz + Pyt y)

Voooo0D0 w(z) 0 2402000002 000000000000000 100000000000000000000O0
000000 2000000000000000 20000000 (twice continuously differentiable)0 00000000000
100 20000 LipschitzOOOOOOOOO0OOOOOO
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0000000000000 100000 GaussOODODODODOO

/ V(opVu)d2 = | n-¢NVuds = PR pds
19, a0 892,

00000000000o000O (11.37) 0000000000 ooo

/ (Gratiat drytiy+érf)d2 — [ éuhds =0
(9} 0822

OO0 A=000000 Neumann OOOOOOO0O0O0ODOOOOOO0ODOODOOOOO0OOO0O0O0 FEMO
000000000000oo0w, f,h00 (11.28)00000000000O00OO0OOO0O

!
ST Kguj ==Y Fgfi+ Y Hih, (k=1,2,..., K) (11.38)
goo
Kf, = /Q (Gki0tOhydi )2, FL; = /Q brdy A, HE, = /a  uty s (11.39)
2

oo Z;D kOO00D00CO0000O0Neumann OO0 O0OO0OO0O00OOCOOODODOO
00000000 ;0001000000 (11.38) O Dirichlet 0 0 (11.36b) D000 O0O00O0DOOO

Apjuj = by, (k=1,2,...,K) (Au =b) (11.40)
ooo
K¢, 2+00
Ay = 2 K T € 200 (11.41)
6kj T € 891
=2 Fiiti z), € 2
by = g z) € 00 (11.42)

=3 F& i+ Hehy @ € 082

0r; O Kronecker 000000000 z, € 240, 0 k0000000000000 NeumannOOODO
00000000000 00000O00U00 (1140)0 kODO0OUO0 KODODODODOOODOOODOOODOO
D000 xk000000000000000000 KOOOOO0OO0OO0 ;000 KOOOOOOo0O0O0O0 1
000000000 (1140)00000 ADODDOOUOOOOO (stiffness matrix) DO OO0 0000 (force
term) 0000000000000 FEMOOOOOOOOOOOODOODOODAQOOOOOOODOOOO
00000000000 A0DOUOOO0D0 (11.41)0(11.42) O

Sk — Y Kfj 4 Adkj,
gk — Ak

ocooooo xODOOOOO0DOOOOOoDOOOoOoOobDoOooOo
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11.2.4 000

0010000 (1140)000000000000000000000000O0O0O0OD0OO0O0OOO
00000000000 (11.22)00 200000000000

_ I
Ty = 1, = wr— —— 11.43
¢ w wr Sy ( )

ocooooooooooo¢ooooooooonooobOooooDOobDOooooboOooo

r An
)i A6+ =g (11.44)

Tisy =T+ (wr———
+ —l—(wr 2mr

DDD@ﬁ:QjL%ﬁ%,F:HﬂImleM:&H—&AM:meﬂmDDDDDDDDD
00000000y 000000 (1144)00000000000000000000000O0O00O0O0
(11.44)0000000000000000000000000000O0O0O00O0000
0000000000oooo (11400000

T;in):Akjugn)*b;(gn)
gooooooooooooooooooooooooboooobooooo
ulinﬂ):ufgn)—ar,(cn)/Akk

b0 000000 1500000D00DO0O0OO0OO0DOOOOOOOOOOODOODODOODODODOD
000 (line over-relaxation method) 0 0000000000000 O0O0OO0O0OO0OOOOOOOOUOOODOO
boboooooooooooooooooooboobooboobobobobobobobobobon
obooooOoboooobooboooooboooo

11.2,5 FEMUOUOOOOOOODOODOO

Laplace U000 Poisson U0 O0OOO0OO 100000000 10000000 FEMOODOODOO
boboboboboobooooboooboobobobobobobo2b0b00 0000000000
oboobooboooboooobooooboooobooooboooobo 20b00000b0000
FEMOOOOOOODODOOOODODOOOOOODOOOo200b0000000000DO0DOODOODOO
Ooo0oo0oo0o0 FEMOOOODOOOODOOOODOOOOOOOODOODOOODOOOOOOOO

() 000 10000000 (byOooo (00001000
011.1: 00000000
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000002, 00000 ¢(xg) =9 00000020000 200000000000000000
ooooo

L
é(x) = do+ Y _ cthi(x) (11.45)
=1
o000 ogoodo L:57¢1:x7w2zn7w3:x2,w42027w5:2‘r0|]|:]|:|[jx:x—gj0’U:y_yo[j
O0zy00O0O0ODOOO0OODOO0OO (1145)0 LOD0O0O0OD q U000 2,000 KOOOOOOO

L

Sp—do =Y ctu (k=1,..., K) (11.46)

=1

00000000000000000000000000000000 K >L, ¢, =0, Y =viEk)
00000000 ¢000000000000000000000000000

L
> anc = fa (n=1,2,..., L) (11.47)
=1
ooo
K K
ant = > Wi mthie,  fo =Y Wi bnk(dr—0) (11.48)
k=1 k=1

ogooow,0o0oooddooooooooooooooa
0Pf0x = c1, 0Py = ¢ (11.49)

gboobobooobooboooobobooooboboboobOobooooboboboobOobOn =
goooooobooboooooooboooobobooot gD ODobDoobooboboOoo
oooog Wk2=(zc2+l)2)*3DDDDDDDDDDDDDDDDDDDDD 11.100000000000
U0 Loboooboboz,0000b0o0ooboooboooooobooboobooobooobooobbooboon
gobooo20000000oooooooboooboboobboobbot gy 0Dob0ooboobDoboo
go3toooboooboooboboooboooboooooboooboooooooboboooooooboOoooon
gbooboo200000000000000000

11.3 U0ougbuobbooboooougn

goboooboobobooobooobooooobooobo0oobooooooboooooboOooobooboOon
00000000000 Poisson 0000000000 Galerkin FEMOOOOOOOO (OO 1000
0)0000000000000000000000000000O000000000D0OO00OoOoUoOO
gooboobooboobogoooboooboboobOoboobOobobOoboboobobooboboboo
oooooodoood.,joo00dddoooooooooooooggdddese=0, e, 4,1, 00
ooooooooooooooooooy=0,j,0000000000000000000000000
oo mO0O0000OnDO0000D00000O0O0DOO00O0O0OO0O0DO0O0O0O0O0O0OD0O0O0 2,70
oo00001s0000000000000¢000000000DQ0COODODODO¢;000000000
O000omgDOO0O0DO0OO0000 wnobOOOOO NOwmu, vuu, pou0000000000D00OO0O
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wy,ydOOOO0O000000 v,y00000 poyp=100000000000000000000000
000000000 00000000 Gmu=1p, 00000000000 (pre-rotation) D000 v,y 00O
gboboboboobooboobibobDemd=Ip0 KuttaODODODODODODODODODODODODODODO
O000o000oo00oo00oDo00oo00oOo0o0oo0o0oO000DooO0oD 2,60,7000
O0voOoOOO (wm, w,) 000 p0000000000O00OOO0OOOODOOOOOOOOOOOOO
0000000000000000 FORTRAN 95/90 Free source form 00000000

PROGRAM MAIN

1 skt sk sk e sk s e ks s sk sk s ks o sk s e sk sk e sk sk sk e ks o sk s sk s e sk sk e ks s e sk sk s sk sk s sk sk s sk sk e ksl sk e ksl sk ks s ke sk ok sk ok

! Problem: 2D Incompressible Inviscid Flow through a Cascade on a Revolutional Flow Surface

! Numerical Methods: Galerkin FEM Using Triangular Linear Elements, Relaxation Method

1 skt sk sk s sk e sk s e ks s e sk sk s sk s s sk s s sk sk e ksl s e ks o sk sk s sk sk e sk sk e ksl s e sk sk s sk sk s sk sk s sk sk e sk sk sk e sk sk sk ks s ke sksk s ok sk ok

DIMENSION z(0:30),th(0:30,2),r(0:30),xm(0:30),xi(2,217),zs(9),rs(9),1s(9),Psi(217), &
res(217),w(2,217) ,nm(3,360) ,p(217) ,£(217)

COMMON /COND/omg,pi,nob,wnu,vuu,Gnu,pOu,tbt /IJP/il,i2,ip,jp,na &

/INDX/Gmd,DGmd ,resmax,resmin

CHARACTER#8 z1,c(2)

! skkxx Input Geometries of Revolutional Flow Surface and Blade, and conditions

DATA it1,i2,if,jf,1£/10,26,30,6,9/

ip=if+1; jp=jf+1l; mf=ip*jp; nf=2%if*jf

DATA zs/ 0., 13.0, 37.5, 57.0, 75.0, 90.3, 98.3, 2%99.0/

DATA rs/2*75.0, 76.0, 81.0, 89.5, 107.0, 135.0, 159.0, 185.0/

DATA 1s/0,2,6,10,14,18,22,26,30/

DATA th/10%0., 2.200, 2.084, 1.962, 1.817, 1.662, 1.517, 1.364, 1.207, 1.050, .894, &
.736, .592, .465, .350, .242, .126, b5%0., &

10%0., 2.200, 1.993, 1.829, 1.680, 1.528, 1.380, 1.228, 1.072, .921, .763, &

.607, .462, .333, .227, .145, .072, 5%0./

DATA omg,pi,nob,wmu,vuu,pOu/1., 3.14159, 6, .23, .04, 1./

! omg:angular velocity, nob:number of blades, wmu:upstream meridian velocity

! vuu:upstream circumferential absolute velocity, pOu:upstream stagnation pressure

! skkxx Discretize into elements

CALL SETXI(z,th,r,xm,if,jf,xi,mf,zs,rs,1ls,1f)

na=0

! *x*x*x*x Compute stream function Psi and velocities W

100 na=na+1

CALL CALPSI(z,r,xm,if,jf,xi,Psi,res,w,mf,nm,nf)

CALL VELCTY(r,if,jf,xi,Psi,w,p,mf)

! *xxxxx Jutput computational results

OPEN (20,FILE="0UTPUT.DAT’)

WRITE(20,60)na,Gmd,DGmd,resmax,resmin

! Gmd:downstream circulation, DGmd:inclement of Gmd, resmax and resmin:maximum or minimum

! residual of finite element eqns

60 FORMAT(/1H ’na =’, I3, 5X ’Gmd =’, F8.4, 5X ’DGmd =’, F8.4, &
5X ’resmax =’, F8.4, 5X ’resmin =’, F8.4)

IF (na<99) GOTO 100

DO k=1,5
SELECT CASE(k)
CASE(1); z1=’ Psi ’; isf=0; FORALL(m=1:mf)f(m)=Psi(m)
CASE(2); zl1=’ res*100’; isf=2; FORALL(m=1:mf)f(m)=res(m)
CASE(3); zi1=’ w_m ’; isf=0; FORALL(m=1:mf)f(m)=w(1,m)
CASE(4); z1=’ w_u ’; isf=0; FORALL(m=1:mf)f(m)=w(2,m)
CASE(5); zl=’pressure’; isf=0; FORALL(m=1:mf)f (m)=p(m)
ENDSELECT

CALL WRTF(f,z1,ifs)
ENDDO
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IF (na<100)
CLOSE(20)

! ***x*x Drawing mesh, pressure distribution and streamlines

CALL RESULTS(xi,Psi,p,if,jf,mf,nm,nf)
STOP
END PROGRAM MAIN

I kkskokkskokkkk Mesh Discretization

GOTO 100

SUBROUTINE SETXI(z,th,r,xm,if,jf,xi,mf,zs,rs,1ls,1f)
DIMENSION z(0:if),th(0:if,2),r(0:if),xm(0:if),xi(2,mf),zs(1f),rs(1f),1s(1f), &

xs(9),us(9),x1(0:30),u1(0:30),f(217)

COMMON /COND/omg,pi,nob,wnu,vuu,Gnu,pOu,tbt /IJP/il,i2,ip,jp /INDX/Gmd,DGmd

CHARACTER*8 z1,c(2)

pit=2.*pi/nob; Dpit=pit/FLOAT(jf); r2=rs(8)

! z,theta,r:cylindrical coords, xm:meridian coord, xi=(xi,eta):mapping plane coords
! sk*xx Generate revolutional flow surface by interpolation using exponetial spline

DO n=1,3
IF (n==1) THEN

FORALL(i=0:if)x1(i)=FLOAT(i); us(1)=0.

ENDIF
FORALL(1=1:1f)xs(1)=x1(1s(1))
SELECT CASE(n)
CASE(1)
DO 1=2,1f
dz=zs(1)-zs(1-1); dr=rs(1)-rs(1-1)
us (1)=us (1-1)+SQRT (dz*dz+dr*dr) /r2
ENDDO

CASE(2); FORALL(1=1:1f)us(1)=zs(1)/r2
CASE(3); FORALL(1=1:1f)us(1)=rs(l)/r2

ENDSELECT
dx=x1(2)-x1(0); IF (n==1)dx=2.
gl=(us(2)-us(1))/dx
dx=x1(30)-x1(26); IF(n==1)dx=4.
gf=(us(9)-us(8))/dx
CALL ESPL(xs,us,ls,1f,gl,gf,x1,ul,if)
SELECT CASE(n)
CASE(1); FORALL(i=0:if)x1(i)=ul(i)
CASE(2); FORALL(i=0:if) z(i)=ul(i)
CASE(3); FORALL(i=0:if) r(i)=ul(i)
ENDSELECT
ENDDO
xm(0)=0.
DO i=1,if
dz=z(i)-z(i-1); dr=r(i)-r(i-1)
xm(i)=xm(i-1)+SQRT (dz*dz+dr*dr)
ENDDO
xi(1,1)=0.
DO i=1,if; m=i*jp+1
dm=xm(i)-xm(i-1); rm=(r(i-1)+r(i))/2.
xi(1,m)=xi(1,m-jp)+dm/rm
ENDDO

Inormalization

'normalization
Inormalization

!more exact meridian coords

! #x*x* Determine blade outlet angle tan(beta_t) and circulation Gmd

i=i2; m=i*jp+1
Dxi=xi(1,m)-xi(1,m-jp)
bt1=ATAN((th(i,1)-th(i-1,1))/Dxi)
bt2=ATAN((th(i,2)-th(i-1,2))/Dxi)
tbt=TAN((bt1+bt2)/2.)

'blade outlet angle

21
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Gmd=2.*pi*r (i)* (wmuxtbt+omg*r (i)) !downstr circulation
! x*x**xx Genarate periodic boundaries
Gmu=2. *pixr (0)*vuu lupstr circulation

DO i=i1-1,0,-1; m=i*xjp+1

rm=(r(i)+r(i+1))/2.; Dxi=xi(1,m+jp)-xi(1,m)

wu=Gmu/ (2. *pi*rm)-omg*rm; Dth=Dxi*wu/wmu

th(i,1)=th(i+1,1)-Dth lupstream region bound
ENDDO
DO i=i2+1,if; m=i*jp+1

rm=(r(i-1)+r(i))/2.; Dxi=xi(1,m)-xi(1,m-jp)

wu=Gmd/ (2. *pi*rm)-omg*rm; Dth=Dxi*wu/wmu lwmu=const
th(i,1)=th(i-1,1)+Dth !downstream region bound
ENDDO

! #**xx Discretize computational domain into elements
DO i=0,if; mO=i*jp+1
IF(i<=i1.0R.i>=i2)th(i,2)=th(i,1)
th(i,2)=th(i,2)+pit
DO j=0,jf; m=i*jp+j+1; t=j/FLOAT(jf)

xi(1,m)=xi(1,m0) Ixi
xi(2,m)=(1.-t)*th(i,1)+t*th(i,2) leta
ENDDO
ENDDO

I x*x*x Print xm, z, r, theta, xi,eta
OPEN(20,FILE=’0UTPUT.DAT’)
WRITE(20,60)xm,z,r,th
60 FORMAT(/1H ' m =, 31F8.3/1H ’ z =’, 31F8.3/1H ’ r =’, 31F8.3 &
/1H ’theta=’, 31F8.3/1H 6X 31F8.3/)
DO i=1,2
FORALL (m=1:mf)f (m)=xi(i,m)
zl=c(i); isf=0; CALL WRTF(f,z1,isf)
ENDDO
DATA c/’ xi ’,7  eta '/
END SUBROUTINE SETXI

! kdokkkkokkkkk Calculation of Cascade Flow by FEM
SUBROUTINE CALPSI(z,r,xm,if,jf,xi,Psi,res,w,mf,nm,nf)
DIMENSION z(0:if),r(0:if),xm(0:if),xi(2,mf),Psi(mf),res(217),w(2,mf) ,nm(3,nf), &
A(217,-8:8) ,B(217) ,£(217) ,cosdel(0:30) ,phi(2,3),c(6,3) ,rhs(6)
COMMON /COND/omg,pi,nob,wnu,vuu,Gnu,pOu,tbt /IJP/il,i2,ip,jp,na &
/INDX/Gmd,DGmd ,resmax,resmin
CHARACTER*8 z1
pit=2.*pi/nob; Dpit=pit/FLOAT(jf); flw=pit*wmu !flw:flow through a channel
i0=if-1; jO=jf-1; 1lf=jp+1l; nl=jf
DATA all,al2/.6, 1.5/
IF(na/=1) GOTO 200
! ®x***x Setup nodal point numbers of each elements
n=1; m=1
201 nm(1,n)=m; nm(2,n)=m+jp; nm(3,n)=m+jp+1
n=n+1; nm(1,n)=m; nm(2,n)=m+jp+1; nm(3,n)=m+1
n=n+1; m=m+1; IF(MOD(n,2*jf)==1)m=m+1

IF (n<=nf) GOTO 201

! xx**xx Predict values of Psi

DO i=0,if; mO=i*jp+1l; DO j=0,jf; m=i*jp+j+1 'Psi=0 on pressure side
Psi(m)=Psi(m0)+f1lw*j/FLOAT(jf) 'Psi=flw on suction side

ENDDO; ENDDO
! *xxxx Predict upstream and downstream velocities
FORALL (m=1: jp)
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w(1l,m)=wmu; w(2,m)=vuu-omg+r(0) lat upstr bound
ENDFORALL
FORALL (m=mf-jf :mf)

w(l,m)=wmu; w(2,m)=Gmd/(2.*pix*r(if))-omg*r (if) lat downstr bound
ENDFORALL

GOTO 210

I x%*x*xx correct Gmd and w_u at downstream bound
200 m=i2*jp+1; mO=m+jp 'at blade trailing edge

bum=(w(1,m)+w(1l,m+jf)+2.*w(1,m0))/4. Ibx=bar (*) :averaged *

bwu=(w(2,m)+w(2,m+jf)+2.*w(2,m0)) /4.
btb=(tbt+w(2,m0) /w(1,m0)) /2.
Dxi=xi(1,m0)-xi(1,m); Deta=xi(2,m)-xi(2,m0)
DGmd=all*4.*pixr (i2)* (bwut+bwm* (Deta+Psi(m0)/w(1,m0))/Dxi) 'all:damping factor
Gmd=Gmd+DGmd !corrected Gmd
FORALL (m=mf-jf :mf)w(2,m)=Gmd/ (2.*pi*r(if))-omg+*r (if) lat downstr bound
210 CONTINUE
! *x*x*xx Compute rhs of Poisson eq of streamfunction Psi
DO i=1,if-1
dr=r(i+1)-r(i-1); dm=xm(i+1)-xm(i-1)
cosdel (i)=dr/dm Icosdel=cos(delta)
ENDDO
dr=r(1)-r(0); dm=xm(1)-xm(0) ; cosdel(0)=dr/dm
dr=r(if)-r(i0); dm=xm(if)-xm(i0); cosdel(if)=dr/dm
DO i=0,IF; DO j=0,jf; m=i*jp+j+1
IF (na==1) THEN
IF (i<=1i1) THEN; Gmg=Gmu
ELSEIF(i>=i2) THEN; Gmg=Gmd
ELSE; Gmg=(Gmu*(i2-i)+Gmd*(i-i1))/(i2-i1); ENDIF
w(2,m)=Gmg/ (2. *pi*r(i))-omg*r (i)
ENDIF
f(m)=(w(2,m)+2. *omg*r (i) )*cosdel (i) !rhs of Poisson eqn on xi
ENDDO; ENDDO
| skkxx Set up coefficient matrix A and rhs B of linear equations
FORALL (m=1:mf,1=-1f:1f)A(m,1)=0.; FORALL(m=1:mf)B(m)=0.
DO n=1,nf
mi=nm(1,n); m2=nm(2,n); m3=nm(3,n)
phi(1,1)=xi(2,m2)-xi(2,m3); phi(2,1)=xi(1,m3)-xi(1,m2)
phi(1,2)=xi(2,m3)-xi(2,m1); phi(2,2)=xi(1,m1)-xi(1,m3)
phi(1,3)=xi(2,m1)-xi(2,m2); phi(2,3)=xi(1,m2)-xi(1,m1)
AJ=phi(2,3)+*phi(1,2)-phi(2,2)*phi(1,3) !Jacobian
B(m1)=B(m1)-(2.*f (m1)+f (m2)+f (m3))*AJ/24. 'rhs of finite element eqns
B(m2)=B(m2)-(2.*f (m2)+f (m3) +f (m1) ) *AJ/24.
B(m3)=B(m3)-(2.*f (m3)+f (m1)+f (m2))*AJ/24.
DO me=1,3; m=nm(me,n)
DO le=1,3; l=nm(le,n)-m
Ae=(phi(1,me)*phi(1,le)+phi(2,me)*phi(2,1le))/2./AJ]
A(m,1)=A(m,1)+Ae lcoefs of finite element eqns
ENDDO; ENDDO
ENDDO
! x*x*x*xx Solve simultaneouse linear qns of Psi by relaxation method
I sk*xx Compute cascade region by usual SLOR
DO ii=il,i2; i=ii; IF(MOD(na,2)==0)i=il+i2-ii lalternate sweep direction
DO j=1,j0; m=ixjp+j+1
c(J, = A(m,-1)
c(J,2)=al2%A(m,0)
c(J,3)= A(m,1)
rhs (J)=B(m)-A(m,-1£)*Psi(m-1f)-A(m,-jp) *Psi(m-jp) &
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-(1.-al2)*A(m,0)*Psi(m)-A(m, jp)*Psi(m+jp) -A(m,1f)*Psi (m+1£f)
ENDDO; rhs(jO)=rhs(jO)-A(m,1)*flw
n=j0
CALL GAUSS3(c,rhs,nl,n)
FORALL(j=1:j0)Psi(i*jp+j+1)=rhs(j)

ENDDO
! skkxx Compute upstream region
Psim=0.; DO m=il*jp+2,il*jp+jp; Psim=Psim+Psi(m); ENDDO 'add uniform correction

Psim=Psim/FLOAT (j£)
DO i=i1-1,0,-1; m=i*xjp+1l
Dxi =xi(1,m+jp)-xi(1,m)
Deta=xi(2,m+jp)-xi(2,m); rm=(r(i)+r(i+1))/2.
Psim=Psim- (omg*rm-Gmu/ (2. *pi*rm))*Dxi-flw*Deta/pit
Psia=0.; DO m=i*jp+2,i*jp+jp; Psia=Psia+Psi(m); ENDDO
Psia=Psia/FLOAT(jf); DPsi=Psia-Psim
FORALL (m=i*jp+1:i*jp+jp)Psi(m)=Psi(m)-DPsi
ENDDO
DO i=i1-1,1,-1 !SLOR considered periodic cond
DO j=1,j0; m=ixjp+j+1
c(j, = A(m,-1)
c(j,2)=al2%A(m,0)
c(j,3)= A(m,1)
rhs(j)=B(m)-A(m,-1£f)*Psi(m-1£)-A(m,-jp)*Psi(m-jp) &
-(1.-al2)*A(m,0)*Psi(m)-A(m, jp)*Psi(m+jp) -A(m,1f)*Psi (m+1f)
ENDDO
m=i*jp+2; rhs(1)=rhs(1)+c(1,1)*flw
m=i*jp+jp; c(jf,1)=A(m,-1); c(jf,2)=al2*(A(m,0)+A(m-j£,0)); c(j£,3)=A(m-jf,1)
rhs(j£)=B(m)+B(m-jf)-A(m,-1f)*Psi(m-1f)-(A(m,-jp)+A(m-jf,-jp)) *Psi(m-jp) &
-(1.-a12)*(A(m,0)+A(m-j£,0) ) *Psi(m) - (A(m, jp) +A(m-jf, jp) ) *Psi(m+jp) &
-A(m-jf,1f)*(Psi(m+2)+f1lw)-c(jf,3)*flw
n=jf
CALL GAUSSP(c,rhs,n)
FORALL (j=1:jf)Psi(i*xjp+j+1)=rhs(j)
m=ixjp+1; Psi(m)=Psi(m+jf)-flw

ENDDO
! *xxxxx Compute downstream region
Psim=0.; DO m=i2%jp+2,i2%jp+jp; Psim=Psim+Psi(m); ENDDO 'add uniform correction

Psim=Psim/FLOAT(j£)
DO i=i2+1,if; m=i*jp+1
Dxi =xi(1,m)-xi(1,m-jp)
Deta=xi(2,m)-xi(2,m-jp); rm=(r(i-1)+r(i))/2.
Psim=Psim+(omg*rm-Gmd/ (2. *pi*rm))*Dxi+flw*Deta/pit
Psia=0.; DO m=i*jp+2,i*jp+jp; Psia=Psia+Psi(m); ENDDO
Psia=Psia/FLOAT(jf); DPsi=Psia-Psim
FORALL (m=i*jp+1:i*jp+jp)Psi(m)=Psi(m)-DPsi
ENDDO
DO i=i2+1,if-1 !'SLOR considered periodic cond
DO j=1,j0; m=i*jp+j+1
c(j,= A(m,-1)
c(j,2)=al2*A(m,0)
c(j,3)= A(m,1)
RHS(J)=B(m)-A(m,-1f)*Psi(m-1£f)-A(m,-jp)*Psi(m-jp) &
-(1.-212)*A(m,0)*Psi(m)-A(m, jp) *Psi(m+jp) -A(m,1£f) *Psi (m+1f)
ENDDO
m=i*jp+2; rhs(1)=rhs(1)+c(1,1)*flw
m=i*jp+jp; c(jf,1)=A(m,-1); c(jf,2)=al2*(A(m,0)+A(m-j£,0)); c(jf,3)=A(m-jf,1)
rhs(j£)=B(m)+B(m-jf)-A(m,-1f)*Psi(m-1£f)-(A(m,-jp)+A(m-jf,-jp))*Psi(m-jp) &
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-(1.-al12)*(A(m,0)+A(m-j£,0))*Psi(m)-(A(m, jp)+A(m-jf, jp) ) *Psi(m+jp) &
-A(m-jf,1£f)*(Psi(m+2)+f1lw) -c(j£f,3) *flw
n=jf
CALL GAUSSP(c,rhs,n)
FORALL(j=1:jf)Psi(i*jp+j+1)=rhs(j)
m=i*jp+1; Psi(m)=Psi(m+jf)-flw
ENDDO
! xx*x*xx Estimate residuals of finite element equations
DO i=1,if-1; DO j=1,jf-1; m=i*jp+j+1
res(m)=-B(m)+A(m,-1£f)*Psi(m-1f)+A(m,-jp) *Psi(m-jp)+A(m,-1)*Psi(m-1) &
+A(m,0) *Psi(m)+A(m, 1) *Psi(m+1)+A(m, jp) *Psi(m+jp) +A(m,1f) *Psi (m+1f)
ENDDO; ENDDO
cycle_1: DO i=1,if-1; m=ixjp+j+1; IF(i>=il.AND.i<=i2)CYCLE cycle_1 !periodic bound
j=0; m=ixjp+1; ml=(i+1)*jp
res(m)=-B(m)+A(m,-jp) *Psi(m-jp)+A(m,0) *Psi(m)+A(m, 1) *Psi(m+1) &
+A(m, jp) #*Psi(m+jp) +A(m,1f) *Psi(m+1f) &
-B(m1)+A(m1,-1£)*(Psi(m1-1£)-flw)+A(ml,-jp)* (Psi(mi-jp)-flw) &
+A(m1,-1)*(Psi(m1-1)-flw)+A(m1,0) * (Psi(m1)-flw)+A(ml, jp) * (Psi(mi+jp)-flw)
ENDDO cycle_1

DO j=0,j0; m=j+1; mml=m-1; IF(j==0)mml=m 'upstr bound
res(m)=-B(m)+A(m,-1) *Psi(mm1)+A(m,0)*Psi(m)+A(m,1) *Psi(m+1) & 'A(1,-1)=0
+A(m, jp) #*Psi(m+jp)+A(m,1f) *Psi(m+1f)-Dpit*w(2,1)
ENDDO

res(1)=res(1)-B(jp)+A(jp,-1)*(Psi(jp-1)-f1lw)+A(jp,0) *(Psi(jp)-flw) &
+A(jp,jp) *(Psi(jp+jp)-flw)

DO j=1,jf; m=if*jp+j+1; mpil=m+1; IF(j==jf)mpl=m !downstr bound
res (m)=-B(m)+A(m,-1f)*Psi(m-1f)+A(m,-jp)*Psi(m-jp)+A(m,-1)*Psi(m-1) &
+A(m,0)*Psi(m)+A(m,1)*Psi(mpl)+Dpit*w(2,mf) 'A(mf,1)=0
ENDDO

m=mf; mO=mf-jf
res(m)=res(m)-B(m0)+A(m0,-jp)*(Psi(mO-jp)+£flw)+A(m0,0)* (Psi(m0)+flw) &
+A(m0,1)*(Psi(mO+1)+flw)
resmax=MAXVAL (res,DIM=1)
resmin=MINVAL (res,DIM=1)
END SUBROUTINE CALPSI

! skekkkkskkokkk Compute velosities
SUBROUTINE VELCTY(r,if,jf,xi,Psi,w,p,mf)
DIMENSION r(0:if),xi(2,mf),Psi(mf),w(2,mf),p(mf),neb(6,217),bp(6),ps(5,6), &
a(5,5),aw(5),iw(b)
COMMON /COND/omg,pi,nob,wmu,vuu,Gmu,pOu,tbt /IJP/il,i2,ip,jp,na
pit=2.*pi/nob; Dpit=pit/FLOAT(jf); flw=pit*wmu
rot=pOu-omg*Gmu/ (2.*pi) !rothalpy
! ***xx Determine neighbouring nodal numbers of each nodes
CALL SETNEB(neb,if,jf,mf)
! xx*x*xx Compute relative velocities w_m, w_u on revolutional flow surface
DO m=1,mf; mO=m
i=(m-1)/jp; j=MOD(m-1,jp); IF(i==0.0R.i==if) GOTO 301 !'upstr & downstr bounds
DO k=1,6; mk=neb(k,m0)
bp (k) =Psi (mk) -Psi (m0)
ps(1,k)=xi(1,mk)-xi(1,m0)
ps(2,k)=xi(2,mk)-xi(2,m0)
IF(i>=i1.AND.i<=1i2) GOTO 302 !cascade region
IF(j==0) THEN Iperiodic bound j=0
bp(2)=bp(2)-flw; ps(2,2)=ps(2,2)-pit
bp(3)=bp(3)-flw; ps(2,3)=ps(2,3)-pit; ENDIF
IF(j==j£f) THEN !periodic bound jf
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bp(5)=bp(5)+flw; ps(2,5)=ps(2,5)+pit
bp(6)=bp(6)+flw; ps(2,6)=ps(2,6)+pit; ENDIF

302 CONTINUE
ps(3,k)=ps(1,k)*ps(1,k)
ps(4,k)=ps(2,k)*ps(2,k)
ps(5,k)=2.*ps(1,k)*ps(2,k)

ENDDO

FORALL(n=1:5,1=1:5)a(n,1)=0.

DO n=1,5; DO 1=1,5; DO k=1,6
wt=ps(3,k)+ps(4,k); wt=1./wt/wt/wt

a

(n,1)=a(n,l)+wt*ps(n,k)*ps(1,k)

ENDDO; ENDDO; ENDDO
nf=5; e=1.E-5
CALL MATINV(a,aw,iw,nf,det,e)

w(l

,m)=0.; w(2,m)=0.

DO n=1,5; f=0.
DO k=1,6

wt=ps(3,k)+ps(4,k); wt=1./wt/wt/wt
f=f+wt*ps(n, k) *bp (k)

ENDDO

w
w

(1,m)=w(1,m)+a(2,n)*f
(2,m)=w(2,m)-a(l,n)*f

ENDDO

I okokk
301

** Compute static pressure p
CONTINUE

ww=w(1,m)*w(1,m)+w(2,m)*w(2,m)
p(m)=rot+omg*omg*r (i) *r(i)/2.-ww/2.

ENDDO

'weight function

'w_m
lw_u

!static pressure

! **xxx Take averaged values of P at leading and trailing edges
m=il*jp+1; p(m)=.5%(p(m)+p(m+jf)); p(m+jf)=p(m)
m=i2xjp+1; p(m)=.5%(p(m)+p(m+jf)); p(m+jf)=p(m)
END SUBROUTINE VELCTY

1 kK

*xxxkkk SUBSIDIARY SUBROUTINES

! xkkkkkokkkk Interpolation Using Exponential Spline
SUBROUTINE ESPL(xs,us,ls,1f,gl,gf,x,u,if)
DIMENSION xs(1f),us(1f),1s(1f),x(0:if),u(0:if),Dxs(9),a(9,3),b(9),c(9),p(9),d(9),e(9)
FORALL(1=1:1f-1)

Dxs

(L)=xs(1+1)-xs(1); p(1)=.1

ENDFORALL

n=0;
DO 1=

13 n=n+1
1,1f

FORALL(j=1:3)a(1,3)=0.; b(1)=0.
IF(1<1f)THEN
xp=Dxs (1) *p(1); pl=1./p(1)
d(1)=-p1/xp+pl/TANH(xp)

e
END
ENDDO
DO 10
a(l
b(1
11
b(1
c(l

(1)= p1/xp-pl/SINH(xp)
IF

1=1,1f; IF(1==1)

,21=e(1-1); a(1,2)=d4(1-1)
)=—(us(1)-us(1-1))/Dxs(1-1); IF(1==1f)
a(l,2)=a(1,2)+d(1); a(1,3)=a(1,3)+e(1)
)=b(1)+(us(1+1)-us(1))/Dxs(1)

)=b(1)

10 CONTINUE
b(1)=b(1)-gl; b(1f)=b(1f)+gf

GOTO 11

GOTO 10

'Dxs=Delta x_s, _s:data points, p:tension of beam

'd
le

!coefs of lhs
'rhs
lcoefs of lhs

!rhs

'gl,gf:gradients at both edges
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n1=9; n=1f

CALL GAUSS3(a,b,n1,n) 'compt u’’

ip=0

DO 12 1=2,1f-1
bO=b(1); c0=2.%c(1)/(Dxs(1-1)+Dxs(1)) !spline & numer curvs
IF (bO*c0>=0. .AND. .8*ABS (b0) <ABS(c0)) GOTO 12
p(1-1)=p(1-1)+.1*n*n; p(1l)=p(l)+.1*n*n lincrease tension
ip=ip+1

12 CONTINUE

IF(n<2.AND.ip>0) GOTO 13

1=1

DO i=0,if-1; IF(i==1s(1+1))1=1+1
al=(x(i)-xs(1))/Dxs(1l); all=1.-al lal=alpha
xp=Dxs (1) *p(1); p2=1./p(1)/p(1)
u(i)=(us(1)-p2*b(1))*ali+(us(1+1)-p2*b(1+1))*al & !compute interporated values

+p2/SINH (xp) * (b (1) *SINH(all*xp)+b(1+1) *SINH(al*xp))

ENDDO

u(if)=us(1£f)

END

I sekskxskkokokkk Solution of Simultaneous Linear Eqns having Tri-Diagonal Reduced Array
! by Gaussian Elimination
SUBROUTINE GAUSS3(a,b,nl,n)
REAL a(n1,3),b(n1)
DO k=1,n-1
b(k)=b(k)/a(k,2); a(k,3)=a(k,3)/a(k,2)
b(k+1)=b(k+1)-a(k+1,1)*b(k); a(k+l,2)=a(k+1,2)-a(k+1,1)*a(k,3)
ENDDO
b(n)=b(n)/a(n,2)
DO k=n-1,1,-1
b(k)=b(k)-a(k,3)*b(k+1)
ENDDO
END

I kdokkkkokkkk Solution of Simultaneous Linear Eqns having Tri-Diagonal Reduced Array
! Modified by Periodic Bound Cond, by Gaussian Elimination
SUBROUTINE GAUSSP(a,b,n)
DIMENSION a(n,3),b(n)
DO k=1,n-1
b(k)=b(k)/a(k,2); a(k,3)=a(k,3)/a(k,2); a(k,1)=a(k,1)/a(k,2)
b(k+1)=b(k+1)-a(k+1,1)*b(k); a(k+l,2)=a(k+1,2)-a(k+1,1)*a(k,3)
a(k+1,1)=-a(k+1,1)*ak,1)
b(n)=b(n)-a(n,3)*b(k); a(n,2)=a(n,2)-a(n,3)*a(k,1); a(n,3)=-a(n,3)*a(k,3)
ENDDO
b(n)=b(n)/(aln,1)+a(n,2)+a(n,3))
DO k=n-1,1,-1
b(k)=b(k)-a(k,3)*b(k+1)-a(k,1)*b(n)
ENDDO
END

I sekskxkkokokkk Input of Neighbouring Nodal Point Numbers
SUBROUTINE SETNEB(neb,if,jf,mf)
INTEGER neb(6,mf)
COMMON /IJP/il,i2,ip,jp,na
DO k=1,6
SELECT CASE(k)
CASE(1,2); ii=-1; CASE(3,6); ii=0; CASE DEFAULT; ii=1; ENDSELECT

27
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SELECT CASE(k)
CASE(2,3); ij=-1; CASE(1,4); ij=0; CASE DEFAULT; ij=1; ENDSELECT
DO m=1+jp,mf-jp

neb(k,m)=m+ii*jp+ij

ENDDO

ENDDO

DO i=i1,i2 lon blade
m=i*jp+1; neb(2,m)=m+2*jp+2; neb(3,m)=m+2 !press side
m=m+jf; neb(5,m)=m-2*jp-2; neb(6,m)=m-2 I'suction side

ENDDO

cycle_1: DO i=1,if-1; IF(i>=i1l.AND.i<=i2)CYCLE cycle_1 !periodic bound
m=i*jp+1; neb(2,m)=m-2; neb(3,m)=m+jf-1 15=0
m=m+jf; neb(5,m)=m+2; neb(6,m)=m-jf+1 'jf

ENDDO cycle_1

END

I kkskkkkkkkk Print of 2D Data on Revolutional Flow Surface
SUBROUTINE WRTF(f,z1,isf)

DIMENSION £(217),f£(0:30,0:6)

COMMON /IJP/il,i2,ip,jp,na

CHARACTER*8 z1; CHARACTER*4 Form(7),Area(7)

DATA form/’(1H °,’2X I°,°2,4X’,’> 31(°,° ’,’F8.47,7)) 7/
DATA area/’ -3P’,’ -2P’,’ -1P’,’ >,? 1p’,’ 2P’,’ 3P’/
OPEN (20,FILE=’>0UTPUT.DAT’)

WRITE(20,60)z1,na

Form(5)=Area(isf+4)

FORALL (i=0:30,j=0:6)ff(i,j)=f (i*jp+j+1)

DO j=6,0,-1; WRITE(20,Form)j, (f£(i,j),i=0,30); ENDDO
WRITE(20,61) (i,i=0,30)

60 FORMAT(//1H 10X ’* x % >, A8, > x % %’ 10X ’na =’, I4/)
61 FORMAT(1H 2X ’j/i=’, 31I8)
END

! skekkxxkokokkk Matrix Inversion by Gauss-Jordan Reduction
SUBROUTINE MATINV(a,aw,iw,n,det,e)

DIMENSION a(n,n),aw(n),iw(n)

det=1.; e=AMAX1(e,1.E-5)

FORALL (k=1:n)iw(k)=k

DO k=1,n
w=a(k,k); IF(ABS(w)>e) GOTO 11
1=k; 12 1=1+1; IF(1>n)STOP 5555
w=a(l,k); IF(ABS(w)<=e) GOTO 12

FORALL(j=1:n)
aw(j)=a(k,j); a(k,j)=a(l,j); a(l,j)=aw(j)
ENDFORALL
iw0=iw(k); iw(k)=iw(1l); iw(1)=iw0
det=-det; 11 det=wx*det
a(k,k)=1.
FORALL(j=1:n)a(k,j)=a(k,j)/w
cycle_1: DO i=1,n; IF(i==k)CYCLE cycle_1
w=a(i,k); a(i,k)=0.
FORALL(j=1:n)a(i,j)=a(i,j)-w*a(k,]j)
ENDDO cycle_1

ENDDO
cycle_2: DO j=1,n; 1=j; IF(iw(j)==j)CYCLE cycle_2
13 1=1+1; IF(iw(1)/=j) GOTO 13

FORALL(i=1:n)



gooobooooboooooooooon 29

aw(i)=a(i,j); a(i,j)=a(i,l); a(i,l)=aw(i)
ENDFORALL
iw(1)=iw(j)
ENDDO cycle_2
END

0D00000CALXID 00000000000000000000000000000000000 2, 7s
00000000000000000000000 2,~0000000000000000000000
00000000000 m@Gi)00000 mO0000000 2(m)00000 %0 r(m)00000 ;0
000000000000000000000000000ESPLO0O0O0O0O0O0O00000000000
0000000000000gl,gf 000000000000000%,u0000000 ¢,0000 ;0
00000000 x1000000000000000000000 (00000000)mO0xmO00000
0000000000

00000 /7000000000000000000 Iy =27rv,y00000000 KuttaDDOODOO
00000000000000000000000000000

I'p = 2wrv, = 2wr(wy,tan Sr+wr) (11.50)

o000 pp0O0000OCO00DOCOOO0OOOOOOOOOOOOOODOO BrpOOODOODO OO0
000000000000 Oo00oooooooo0 o000 O0O0O000Otbt=tangyr 00O
obooooobooog

tan O = tan(@)

000000000000000000000000000
n€+AH-—n(§) _ wu

A€ Wiy,
000 w,=T/2mr)—wr00000=p0000 10000000000000O0O00ODOOOOOOOO
goobooooobooobbooobooobboobD yoobobooob oo mODOOODOO
gooooo

(11.51)

m=ijy+j+l  i=(m—=1)/jp, j=MOD(m-1,j)

oo g,=y,+100000000000000000000000O0O0O0O0OOODODO0
000000 cALPSIO ODO0ODO vOODOOOODOOOOOOOODOOOODOOODOOOODOOO

obooboOmOdOOOoOOO0OOOO0OOODOO0OO0DOOO0OOOO0O00 1,2,300000000000000

OCO0»,000000 am(1,n)=mO0000000COC000OCOO0ODOODOOODOODOOOODODOO

m-+1

m+7ji

m+jp
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OO00D0O000 100000 KuttaDOOODOOOODODOOODOOOODY =0000000R0
0 O0"000000000000000000000000000000 (deviation) DO OOOOO
0000000000000 000000000000000 TO000000OO0sS, S’0o0000000
oDO0000DO0b0O0O0Ob0ODKuttaOODOODOOOOODODOODOODOOOODO

1 _
ns—nr = A§§(tan5T+tanﬂs) = Altan 3
000 tan Br 00000 tan Bs = wys/Wms ~ (weo/wme)000 ~000000 TOOOO S, 000
00000000000 OOO0O0O00OO0O0O0OO0bO0OOobooOnOon
ns—ns _ wy —wiY
Ns—nr Wy,

000 W, = (wartwe)/200 0 i —w{" Y 00000000000000000 (wi” —wd )r~0

good

() _yp(n=1)), = }(v(n)_v(n—l))o ~ 1
2 u u

“ “ 4y

n-1) _ 1

n n—1
: o _p-)

w," (w (I'p

00 ng O Taylor 00 ¥ = ¥ +(¥,)s (no—ns) 0O

Yo
ns =nNo——
Wm0

gboboobOobooooobooooobooooboobooooobooooono

rg) = ri=Y4aAry,

n n— n— - ’ w. 17 (n—1) 11.52
AFDEFE)_FE Y = drrrw I)Mz‘lWT{wu*'wim(TlT—??o‘i'io)} ( )
Ns—nr Ag Wmo
D00 «O0O0o0oooooood
Ag
(Wm)
T
nr—nmns
(W)
20 Ns’ —MNs
g W/(wi(tn) _Eén—l))
S
wn=1) — ¢
v =0

000000000 (11.38)00000000000000000O00000O0O0UD (11.39900 100
0000000000 1000000000 (11.32)0000000000000000DO0OoOoUoOO
oboocoooboooboobobooboobooboooooon

b1+ Py D1,0902,2+P1yP2y  P1,203,0+ 1,403,y
A® = [K;] = 5 $2,001,0+ 02,401,y bo i+ 2y $2,0903,2+P2,yP3.y
¢3,x¢1,z+¢3,y¢1,y ¢3,ac¢2,ac+¢3,y¢2,y ¢3,x2+¢3,y2

- 2(e. ¢,y)<;’;z> — 5507
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000 @70 00000 (transposed matrix) 00000000
A9, A%y A3 D11P11+P21P21 P11P12+ P21 P2y P11DP13+P21Po3
A= [ AG A% A% | = A D191+ DP22Po1 P12Pi12+P2aPay P12P13+P22Pa3 (11.53)
Ag A%y A% D13D11+P23P21 P13P12+P23Po2  P13P13+P23Pa3

00000000 ADDD 11200000000000000000000000000000000
A0DO0O0DOOOODOOOOO0OOD ADODOOOOOOOOOOOOO0AOCOOOOOOOOOOOOOO
000 »=81000000000000000000000000000030000000000000
000090000 A00ODOCOOODOCOOO0DOON0DOONONOONONON0OONON0NOONONONooNon o0
0000009000000000000000000 00100000000 40000000000
0¢,000000000000000000O000AQO7O0OOOOOODOODOOOO 00000000
0000 n=67,68,69,80,81,820 0000000000000 00000000O0000O00O0

J l

-1 l
11 K 0 0 f 43 41
2
0 \ 40 5480 48
\ k=k
47 < l=j—k 47 32
48 = 48
47
\ 48 39
. N ¢ K q
K K ~ 4
A A 7

011.2: 000 1000000000000 A0000000 A

l=— -7 —1 0 1 7 8
m=40 91 A2 ASs
47 91 A%y A%
43 51 A%y ASs

Ago,—8  Aso,—7  Aso,—1  Aso  As,  Asor Adog
€ [ €
32 33
e e
A%s 22

n =67 31
68 91

69 21
80
81
82

e
31

e
A22

e
33

e
11

e
11

e
A23
e
32
e e
A% ASs

e e
13 12

0000000 (11.38)0000000000000on (11.39)00 200000 100000000
(11.33) 0 0000000000000 0O00O0O00OCO0OO0O0O (1140)000 000000000

2fi+fo+f3
b= —(Fg,fi) = 91 fit2fatf3
fit+fa+2f3

(11.54)

000 fO000000O0OO (11.21)00000000O0000O0OO (11.23)0000000000000O0O
0000000 BOOOODO0DADOOODOOODOOUOOODOOUOOOD (mass lumping) 000

goo
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0000000000000000000000000000000000000000 Dirichlet 00
00 (11.25a) D00 Ay =1 (1=0), =0 (1#0), by =00r ¢0000000000000 Neumann O
0 (11.25b)000000000000000000000000 (11.38)000000000000000
0000000000 4,00004,00000000000000000000000000000
000000000000000000000 (11.39)00 3000000000000 10000000
0oooooo

As/3 (j=k)
As/6 (j#k)

000 As00000000000000 0000000000000 »,0000000 —w,0000
00000000000000000000000000 +w,As0000000000000000000
00000000000000000 A, b,0000000 (11.25¢)0000000000000000
00000000000000000000000000A,,;=1(=0),=-1(=j), =0 (otherwise),
b =—q0000

v, 000100000 14.1.40000000000000000000 4 <i<i 000000
0<i<i$ 000000i,<i<i;0000000000000000000000000D0000000
000000000000000000000000000000000 (11.4400000000000
000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000
000000000000000000

000000 VELCTYD D000 ¥ 00000000 wy, w, 0000000000 14.1.500000
00000000000 ¥(, 000 20000000000000000000000000000
000000000000000000000000 60000000000000000000000
SETNEB OO0 NEBOOOOODOOODOOD00000000 (11.46) 0 pb(k) = ¥, — ¥ O ps(1,k) = ¢y,0
0 (11.48) 0 a(n,1) = a,y 0 £(n) = f,0000 a(1,k) = (¢~}), 00000000000000000
00000000000000000000000000000000 rot=1=p/p+v¥2—wrv, 000
00000000000000000000000000000

Prpjds = { (11.55)

Yo

];:I—U;—i—wmuzf—i—(w;y—u;
000 I=pyyp—wly/(2r)0000

Jooooooooobbb espPLUdddoooooobbbbbbbbbbodd xs,usD0O0O
00000 w(z)JUODOO0 20w0001s00000000Ogl,gf00000000OO0DOODOOO
¢ (x)0x00000000000 »,000000000000000O00O0O0OO0O0wW0000 w0000
gocAausssgpoooobboo0l1ogobuoobobuoobbuotdbboobodvbboobboob
UO000p0000000OD0DO0O GAUSSPU GAUSS3IU D UOODODODOODOOON version OO OO SETNEB
UbodbooobdbedbUODCOODbUODUOUOnepdOOODOOOODOWRTFOODOOOOODOODOO
oooobdobooobobooooobobooobUob vObOoobUobDboUobUoobUoboooobuoog
U000 WwWRTFOOOD £f=p000 zt=_px10..00000 isf=10000 cALLOODOOOOOOOO
=300 300000000000 MATINODOD a00O00O0OD0OODOODO «0O0OO0O0ODOO0OOd
0b000000obdbUdebd0bObO0OO0ObODbObDUODOUOODUODebODOObDODODODO

OO00oo0ogosps00boboooooooooon
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gbooobooboboboboidobOr=600000000000000000 2000000000000
OO00000D000000000D0 ReSmax, Respmin 1000000000000 0O0DOODODODOOO

gbooooooobO0 1n3ooooboooobobobooboobooooboboboooboooDo

Resmin

Resmax

Iy

ol Vo Wt W W e e
P W W W W e
T P e e e

U113 0b00b0oboobocoboobooboooon
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11.4 0000000000000 4d FEMOUO

000000000000000000000000 (down-wash) 000000000000 O00OO
0000000000000000000000000000000000 (trailing vortex sheet) 0 O O
000000000000000000000000000000000000000000000000
00000000000 000000000000000000000O0000O0000O0000000O0
000" 000000020 FEMOODOOOODOO0O0OO0DOO0D0O0OO0O0DOO0OO0O0OO0O0OO000O0O0
oooooo

1141 00000000 OODOOOO

0000000000000000000O000UOO (rrotational) 00000000000 OOOO
gbogbuodgbooobooboobobbobbooboobooboobooboboobooboa

Vopw=0 (11.56a)
1 1

thw::§Vw2—waxun:—;Vp+mf—2wxw (11.56b)

Tds =0=dh—dp/p (11.56¢)

Ubdv=w+wxrbov,w,r,wod0000000000O0COO0OO0OOOOO0OO0OO0OODODOO
OO0p,pT,s, h 0000000000000 O0O0O0O0OODOOCOOOOOOOOOOODOOODOODOO
gboooboo0ooboobooonD p=10000300000000

0 (11.56b) 000000 100000000000B0000000000000

w? = v+ (wr)? —2wrv, (11.57)

00000000000000000 (11s6c)00000000D0OO0OOOOO

2

B+%—wml (0ooOoDo)
I=q? % (11.58)
h+%—wmu (Doooo)

000000000 P=p+p?/200000000000 H=h+v*)2000000000000000
000000 (rothalpy) I 000000 0O0OOOOOO
oo0o0ooOo0o00opDoo0ogooooUoDoO g0DODOO00OODOOOODDOOOOD

v=-V¢ (11.59)
00000000000 (11.56¢)000 ¢00

= (0pdp)s = (k — 1)h (11.60)

HT. Nagafuji and H. Morii, Proc. IAHR 10th Symp., Vol.1(1980), 583.

127 E. Laskaris, ATAA J., 16(1978), 717.

B0oDO00000000100000000000000000000000000 200000000000000000 0
0000001 wx(Vxw) =001 wxw=0000 [1-Vads =a—aod [jl-rds= fyrdr = (r?—rg)/20
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0 (11.56a) 000000000000D0000OD MO
1 L, 2 2
w-Vh=—-w-Vp=—-cwVp=—-—cVw=—-cVo
P P
0 (11.59)000000000000000000000O0OO0D00O0O0O0O

v%:bz{o (Eooooon) (11.61)
w-Vh/c? (DDOoOon)

00000000000 (11.56)000000000000000000000000000 ¢00000
00000000000000000000»0wdOOOOOOOO0000 (11.58)00000000 A0
0 (11.60)0000¢ ...0000000000000000000O000O00O0O0O00O0O0O0O0O000O0
0(11.61)0000000000000000000000000000000000
00000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000
0000000000000000 (prerotationd 00 00000)00000000000000000
00000000 w,y 000 [y 00000000000 0000000000000000 I =2nrruv,
00000000000000000000000000 (properties)p, p, T, s, h, ... 00000000
O¢, M, hy,...000020000000000000000000000000000 pey 000 Mach
0MyOOOOOw,y O [y 00OOOD0DOO0OO0O000O0000000000000000000000
pov 0 M,y 000000000000 O0000000O0000O0000000O00Mach0000000
0000000000000000000000000

p=pRT = (k—1)ph/k, h=C,T, e=C,T
M=v/c, M,=w/c
1/(k—1) _ 1/(k—1)

@: (@) = (1+uM2)

P h
000 R, Cp,Cy, k=C,/C, 0000000000000 0O0O00OO0OO0 e00O0OOO0OOOODOODO
gbboboboboboooooooooooboobobobobooooboboboboobobona
gbooobooboobobod

0 (1161) 0000000000000 OO0O0ODO

Dirichlet 000 912,
¢(z, 1, 0) = ¢(20, 10, 00) — v (0—00)/27m (oooo) (11.62a)

Neumann OO 0O 0§

— W (0ooo)
n=n-Vo=f=( tnwxr (0000) (11.62b)
0 (0O00D0DDO0OUOOooOOoooOon)

ooooogno o2
¢(Za 0J7 T):¢(Za 007 T)_F/N
¢n(z7 9], 7"):—¢n(27 907 T)
14DDDDDDDDDDDDDDDDDDDDDD~ (system) 0000000000 DO0ODOOOODOOOODOOOODOO
d/dt=9/t+v- VOO D OODOODODODOODOD0OOO0 d/dt=w-VOOOODODODDODOODOOOO

0000000 dp/dt+pVv =w-Vp+pV-w=000000 dp/dt =dp/dt 00000 V-o=V-wOOODO0O000000
00000000000000000000000000000000000000000 V-wxr=00000

(00D0O000O0O0000) (11.62c¢)
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000 0N =0NM+02+02; 00000 00006 =6+2r/NONODODOOUODOOOO nOOODO
0000000 9pn=n-VO0pOOOOOOOOOOOOOOOO
oobooobboo boboooobooooboooogooooooobt w, OO FrOo0OO0O0DOODDO

Owyy, 1 w oIl 1 or2
— = __- T 11.63
0s 2wm{7r 0s  (2mr)? 0Os } ( )
obooobOooooooboooooooo
Q= 27r/wmr ds = const. G = 27r/pwmr ds = const. (11.64)

000 m,u,s000000000O000O000OOO0O0OO0O0OO0OO0O0O0O0O0O0OO0O0O0O0O0O0 (11.63)
0000000000 (11.56b)0 sO0OD0O00O0OO0w, =0000000000000000000 (radial
equilibrium condition) 00000000

10p 1

2
—— = —v,”cos
pOs 1" 7

000 y=tan"(dr/d2) 000000000000000000D00O0O0D00D000000O0O0 (11.56¢)
000000000000 (11.58) 00000

v —avm—wamu—lvzcos —v vy
™os T Bs r ¢ T Os

000 ro000000000000000®0000000 actuator disc 000000000000
oo

dpP 1
Ay~ 2
0000000000000 00O000O0U00O0UOO0UOlyOOODOOUOOO (11.63)00 w,,y OOO
obobooooobooobooboooboobooboooboooooooboono rpooboobooogIpO
O0 KuttaOOOOOUOOOOOw,pOOOO (11.63)0 (11.64)0000000000OO0O0O0OODODO
00000000oo (1le)DOODOOOO0DOO0OOOCO 100000000 FEMOOOOOOOODO

{—rCu—&—%%(rvu)z} (11.65)

11.4.2 00000 100000000

O00002z0000000000&000000000 (-1<¢,n,¢<1)00000DO0ODOUOOOO
oooooooooooooobooooobooooobOooooODO0 ¢, noobo¢cooob 10000
obooooboobooooboobo 1ooooob obobboOoboOobobooobobboonDo

1
Vi€ m, €) = g (L&) (L) (1+CrC) (11.66)
000 &, 0000000000000000000000000000000
k 1 2 3 4 5 6 7
&k -1 1 -1 -1 -1 1 1

Nk -1 -1 1 -1 1 -1 1
Cr -1 -1 -1 1 1 1 -1

= = =] 0O

159, cos y+10vy/0s = O(rvy, )/0s0
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oooooog ¢y, ¢0b0b000ooboooooonog

Yre = égk(1+77k77)(1+Ck<)a
Yn = SHEEMHGO), (h=1,2....8) (11.67)
Ve = %(1+§k§)(1+ﬂkﬂ)@
oooooooooo
P 1 —(1-n)(1-¢) (A== - (14+n)(1+¢)
Y| =3 —(1-01=¢) —-(1-Q0A+& - (1+¢)(1+8)
VS —(1=8(1=n) —(A+E(X=n) - (1+&)(1+n)

obooobob z,y,z00000000000000O00O

'l/),f Q/),I
Y| =J|vYy (11.68)
"/),C "p,z

ooboggbooooboobooogoboooooboboooobooboooDo

1 Y1 2

T2 Y2 22

T3 Ys Zz3
Te Ye oz Ve v owm -
~ 4 Ya 24
J=1xy yp 2| =19, (m Y z) , (x y z) = (11.69)
n Yn Zn n vs ys 2
Te Y6 Z6

Ty Yr 27

xrg Ys =8

gbooobOl1ooboooooboooobooboooobooboobooboooOobOoobooboono

1 r1 pl 8
Jpm@i@ae= [ [ [ a6 =3 sevmenne (11.70)

000 J=|3|0000000& 0 GaussOOOOOOOO
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1143 00O FEMUOOUOODOODOOODOO

0000000 (11.61) 000000 (11.62) 0000000000000 FEMOUOOODOOOOO
000000000oO0O0o0oooooo (11e)0 00 (1162b)0 fO0DOOO0 ODOOOOOOOOO
ooooooooon

16 = [ {5verwo}de~ [ fods (1)

02y

OO0 rFEMOOOO0OO0O0O0O0OO0OODOQOCOCOOOOO ¢, fOOO0O0O0O0O0OoOoOoogod

¢($) = ¢m(x) Prms b(:l:) = "/}m(z) b, f(:l:) = "/}m(z) Im (11'72)

000 ¢(x)000000¢m, b, /0000000000000 O00D00D00O00O0OO0OO0ODOO
000 (11.71) 000000000

N
1
J@) = 3 (GHiubmen + Kidmby — Giuiom i) (11.73)
n=1
00O
mi = | Umatui dS2, ml :/ YmPy dS2, cv="1_1 WYmdS (11.74)
Qe Qe 0%

uvizau/axinQedQDDDDDDDDDerdSEI Nenmann OO O O0O0O0000D0O0O0O00OCOOOOOO
2

0> 00000O00oU00oo0o0ooooUuo0 JoOooo0oo0oooooooouoooog aJ(@)0¢, =0

gbooobooooboobooooooboo

N N N
N Hpgdi=—Y Kb+ > Giufi (m=1,2,..., M) (11.75)
n=1 n=1 n=1

000000000 1000 (hexahedral trilinear element) 00000000000 (11.74) 00000
0000000000000000000000000000000000000 (11.75) 00000 08
000 (11.622) 00000 02000 (11.62c) 0000000000 OO 1000O0O0OOOOOO
¢, 000000000 ODOOOO0OO0ODOOOOO0OODOODOOOODODOOOOODOODOOOODOO
goboobodoboboouooobdoouoobooobboobboobobboobooobboob o
gboooooooboooboooboobobobobdw,000DbO0OO0OO0OO0OCOOOOOOOOOODOODOODO
goboooooobooobboooooboooooooobooobobooboooooobooobooOoooooon
guogoboobbuooooobobooboood

11.4.4 0O000O0OODOOOO0OO0OODOOOOO0

0000 (trailing vortex sheet0 000 0)000000000000O0O (vortex filaments) 000 O
gboooooooobobobobooboobooboboboboboboboooboobobobobo
ooboobobooobooboboobooboooboobOboUobUoobDbooboobDboOobobo
goboboobobooobobboobbooobooboobbodbDboobbooobLbbooob o
000000000 (0000)00000000000000U0O000O0U0O0UO0OO Ip0D0O00ODO
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000000000000 KuttaDOOODOOO0OOO0O0D0D0000000000000 Ip(s)00000
0 wnp(s) 00000000000000000000

0000000 000 (#0)00000000000000007,000000000000 (11.76a)
0000000w,, 00000000000 (11.76b) 000000000000 (jo0)0O00000O
0 (11.76c) 0000000000

I'p = 27r(wr4w,, tan Br) (11.76a)
G= QWprm/r ds (11.76b)
rdf Wy, 1 /Ip

L (A A 11.
dm Wy, Wi (27rr wr) (11.76c)

000 gr0000000000000000000000000000000000021frds0000
0oooooo

0000000 000000 (11.772) 000000000000000000 7,00 (11.77) 000
Kutta 000000000000 0000000O00000C0O000000O0000000000000
wnp 00 (11630000000 (11.77¢) 0000000000

dr  w,

= = 11.77
dz W, ( 2)
Tp = 207 (W tan Br—w,), o =T 4 adlp (11.77b)
rdf Wy,

— = 11.77
dm Wy, ( ¢)

000 000 0000O0O0O0O0OD0ODODODO0O000000000000000 I'p,0000000000

gbooooocoobooooobooboboboboboooooooooboobOo sbobOobOobobooo

obooobOoooobooboooooboooobooooooon
oboooobooboooboobooooooboboooooon

1145 FEMUOUOODOOODOODOODO—DOODO

Laplace 0000 8SO00O00000D00O0OO0 FEMOODOOOODOO20000000000000
00000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000003000
000200000000000000000 FEMOOOODOO000O0O000000000 10000
00000000080 000000000 600000000 FEMOOOOOOOOOODOOODOOO
00ooOoOoooooo

000000000 11.1.40000000000000000000 (11.45)—-(1148) 00000000
0000000000000 O (1145 00L =9, 91 =11, Y2 =12, ¥3 =13, Y1 =12, U5 =1, Y6 =
32, Y7 = 2rar3, Ys = 213l1, Yo =2k, t=2-2o 000z 000000000000000090
00000 0002000 K=14000000 (11.46)0000000000000000000O0
0000000000000 0000000000000000000000000000000000
OwW2=(x?300001400000 11.5000000000000000003000000000
00000000000 400000000000000000000000000000000000
0000000000000 000000000000 20000000000000000
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Input
Cascade Geometry
and Flow Conds Correct k-surfaces,

I'p,wmp
- and Vortex Sheet
’ Discretize Mesh
[

Determine Upstream ’ Compute w, M, p ‘

Bound Conds and
Does Solution
Converge? No
Yes

Predict Downstream
Bound Conds
|

01143000000 FEMOODOOOODOO

11.4.6 U0O0O0O0OOOOO0OOOOOOOOO0

00000000000000000000000000000U000D00O0000O (00 kKO0)DO
00000000 (jUO)0D0OU0DODOO0O0OUOOO0O0DUOO0OO0DUDOOO0OOUOODODOOODUOOOOO
gboboooooooooooooooooooooobobobobobobobobobobobon
gooooobbooobooobooooooboobooooooooobDoboooobDOoobbooooooDbobOoo
boboooooooooooooooooboooooobobooboobobOobobobobobon
ooboooboooobooobooboooobOooboobooooooooooobooooboooooooon
gbobooooboooobooooooooooooooooboooooboobooooboooboooboobobon
ooooboobooooboboboooobooog

boboobobooobooboooobobooooboobooooboon

L)L) =

000y 000ooo0oooooog

_ 19y __ 1o
== U T (11.79)

oooooooooooob oooboob0ooooob0oooooobooooooobo0oooooDoon
obooobOoboooobooboooooboooo

o= —wr 11D (11.80)

aae o (2)

000000000000 00000 (11.58) 00000 actuator discO0O OO0 (11.65) 0000000
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(b)0OOODOO
0 115: 1400000000

0 (11.78)000000000o0ooooooon

Dirichlet 0000 =000000 G/27 (booooooon) (11.81a)

Neumann 0 O O O 0vy/0On = Frpvs (Cooooooo) (11.81b)
) —

DDDDDDDi—a—w:US:wS:—@ (00DO0O000O0o0oO0) (11.81c¢)
rp On 0s

000 000 0O0O0O000000000O0O00U0ooOo00ywOOOO (11.78) 00000 (11.81)0O
o0oo0oooooooooD1000000000 FEMOOOOODOOOOOOOOOOOODOODOOO
oooobOoboobooboobooobooboooooboon

0 _ __ _ 1w

9 _ 5, =, =t 11.82
on Y v rp 0s ( )

000000000000000 - 00000 - 00000000000000001%0
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PROGRAM MAIN

1 sk sk sk ok ok ok ok ok o ok oK oK K ok ok oK K K ok ok ok K K ok ok ok K K 3 ok ok K K 3 ok ok 3K 3K K ok ok oK K K o ok ok K K o ok ok oK K ok ok oK K ok ok ok K K 3 ok oK K K 3 ok ok ok K ok ok ok K ok ok ok Kk ok ok

! Problem: 3D Subsonic Potential Flow through a Mixed Flow Impeller

! Numerical Methods: Variational FEM, Hexahedral Trilinear Elements, Gaussian Elimination

1 sk sk sk ok ok ok ok ok 3 ok ok oK K 3 ok ok oK K ok ok ok K K ok ok ok K K 3 ok ok K K 3 ok ok oK 3K K ok ok oK K K ok ok ok K K 3 ok ok oK K ok ok oK K ok ok ok 3K K 3k ok oK K K 3 ok ok ok K ok ok ok K ok ok ok Kk K ok

DIMENSION z(0:20,0:6),th(0:20,0:6,0:6),r(0:20,0:6),x(3,1029) ,phi(1029), &

w(3,1029),aM(1029) ,p(1029) ,tbt(0:6) ,Gmd(0:6) ,wmd(0:6) ,£(1029)
COMMON /COND/omg,pi,nob,Gmu,wmu,ak,aMu,rhoOu /IJKP/na,il,i2,k1,jp,kp,jkp &
/DMAX/Drmax ,Dthmax ,DGmax , DMmax

CHARACTER*8 z1

jp=jf+1; kp=kf+1l; jkp=jp*kp

! xxxxx Input geometries of passage and vanes

DATA i1,i2,if,jf,k1,kf,mf/6,14,20,6,3,6,1029/

DATA z/-.300, -.160, -.020, .100, .200, .285, .350, .400, .465, .530, .600, &
.670, .735, .800, .850, .890, .920, .950, .980, 1.010, 1.050,105%0.,

-.278, -.230, -.180, -.130, -.080, -.040, .000, .050, .115, .180, .250, &

.320, .385, .450, .500, .560, .630, .710, .800, .890, .963/

DATA r/ .250, .250, .250, .250, .252, .271, .300, .330, .369, .408, .450, &
.492, .b31, .570, .600, .622, .636, .648, .657, .665, .673,105%0.,
.768, .763, .762, .767, .775, .786, .800, .820, .846, .872, .900,
.928, .954, .980, 1.000, 1.024, 1.052, 1.084, 1.119, 1.145, 1.160/

&

&

DATA th/6%0., 1.264, 1.169, 1.023, .879, .713, .528, .356, .167, 7%0.,105%0., &
6%0., 1.264, 1.039, .814, .631, .457, .306, .181, .069, 7%0.,294x0., &
6%0., 1.191, 1.088, .931, .782, .618, .453, .300, .138, 7%0.,105%0., &
6%0., 1.191, .985, .788, .616, .451, .305, .183, .070, 7%0.,294x0., &
6%0., 1.105, .996, .847, .700, .549, .396, .268, .117, 7%0.,105%0., &
6%x0., 1.105, .929, .756, .598, .448, .304, .186, .073, 7*0./

! skkxx Input flow conds
DATA omg,pi,nob,Gmu,wmu,ak,aMu,rhoOu/1., 3.14169, 6, 0., .566, 1.4, .7, 1./
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! sk*xx Discretize into elements, determine upstream bound conds and predict downstream
! bound conds
na=0
CALL SETX(z,th,r,x,tbt,Gmd,if,jf,kf,mf)
CALL PREDCT(z,th,r,w,wmd,if,jf,kf,mf); GOTO 100
! xxxxx Compute velocity potential phi, relative velocity w, Mach number aM and static
! pressure p
102 CALL CALB(th,r,x,w,if,jf,kf,mf)
100 na=na+1
CALL CORRCT(z,th,r,x,w,tbt,Gmd,wnmd,if,jf,kf,mf)
CALL COEF(x,if,jf,kf,mf)
CALL CALPHI(z,th,r,x,phi, Gmd, wmd, if,jf,kf,mf)
CALL VELCTY(th,r,x,phi,w,aM,p,Gmd,if,jf,kf,mf)
! xx*x*xx Qutput computational results
OPEN (20,FILE="0UTPUT.DAT’)
WRITE(20,60)na,Drmax,Dthmax,DGmax ,DMmax
60 FORMAT(/1H ‘’na =’, I3, 2X ’Drmax =’, F7.4, 2X ’Dthmax=’, F7.4, &
2X ’DGmax =’, F7.4, 2X ’DMmax =’, F7.4/)
IF (na<10) GOTO 102
WRITE(20,61)tbt,Gmd,wnd
61 FORMAT(/1H 10X ’tbt =’, 7F7.3/1HO 10X ’Gmd =’, 7F7.3 &
/1HO 10X ’wmd =’, TF7.3/)

zl=’ z ’; CALL WRTF2(z,z1,0)
zl=’ r ’>; CALL WRTF2(r,z1,0)
DO k=1,7

SELECT CASE(k)
CASE(1); z1=’ theta ’; FORALL(i=0:if,j=0:jf,k=0:kf)f (i*jkp+k*jp+j+1)=th(i,j,k)

CASE(2); z1=’ phi ’; FORALL(m=1:mf)f (m)=phi(m)
CASE(3); =zi1=’ w_z ’; FORALL(m=1:mf)f(m)=w(1,m)
CASE(4); zi1=’ w_u ’; FORALL(m=1:mf)f(m)=w(2,m)
CASE(5); z1=’ w_r ’; FORALL(m=1:mf)f(m)=w(3,m)
CASE(6); zl=’pressure’; FORALL(m=1:mf)f (m)=p(m)
CASE(7); z1=’ Mach ’; FORALL(m=1:mf)f (m)=aM(m)
ENDSELECT
CALL WRTF3(f,z1,0)

ENDDO

CLOSE(20)

! Drawing Mesh and static pressure distribution, Mach number contours, relative velocity
! vectors on revolutional surfaces and meridian planes

CALL GRAPHICS(z,r,x,w,aM,p,if,jf,kf,mf)

STOP

END PROGRAM MAIN

! sxxxxxxxxx Mesh Discretization
SUBROUTINE SETX(z,th,r,x,tbt,Gmd,if,jf,kf,mf)
DIMENSION z(0:if,0:kf),th(0:1if,0:jf,0:kf),r(0:if,0:kf) ,x(3,mf) ,tbt(0:kf),Gmd (0:kf)
COMMON /COND/omg,pi,nob,Gmu,wmu,ak,aMu,rhoOu /IJKP/na,il,i2,k1,jp,kp,jkp &
/SETX1/br(0:20) ,rt
DATA rt/.005/ !rt=radius of trailing edge
pit=2.*pi/nob
! sk*xx Generate mesh on meridional plane
DO 100 k=1,kf-1; t=k/FLOAT(kf); DO 100 i=0,if
z(1i,k)=(1.-t)*z(i,0)+t*z(i,kf)
r(i,k)=(1.-t)*r(i,0)+t*r(i,kf)
100 CONTINUE
! ***xx Compute breadths br of passage which are normal to kl-line
cycle_1: DO i=0,if
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sz=z(i,kf)-z(i,0); sr=r(i,kf)-r(i,0) !span lengths
br(i)=SQRT (sz*sz+sr*sr)
IF(i==0.0R.i==1if)CYCLE cycle_1
dz=z(i+1,k1)-z(i-1,k1); dr=r(i+1,k1)-r(i-1,k1)
dm=SQRT (dz*dz+dr*dr) ; zn=-dr/dm; rn=dz/dm lunit normal of dm
br (i)=zn*sz+rn*sr Ipassage breadths
ENDDO cycle_1
| *xx***x Generate mesh on blade surfaces
DO k=1,kf-1; t=k/FLOAT (kf)
cO=(1.-t)*(1.-2.%t); cl=4.%t*x(1.-t); c2=—t*x(1.-2.%t)
DO i=i1,i2
th(i, 0,k)=cO*th(i, 0,0)+ci*th(i, 0,kl1)+c2*th(i, 0,kf)
th(i,jf,k)=cO*th(i,jf,0)+cl*th(i,jf,k1)+c2*th(i,jf,kf)
ENDDO
ENDDO
! x%*x*xx Predict downstream bound conds GMD
i=i2
DO k=0,kf
nn=0
101 nn=nn+1; cbt=1./SQRT(1.+tbt(k)*tbt(k)); sbt=cbt*xtbt (k)
dz=z(i,k)-z(i-1,k); rm=(r(i-1,k)+r(i,k))/2.
dr=r(i,k)-r(i-1,k); dm=SQRT(dz*dz+dr*dr)
dth=th(i, 0,k)-th(i-1, 0,k); tbtO=(rm*dth+rt*cbt)/(dm-rt*sbt); btO=ATAN(tbtO)
dth=th(i,jf,k)-TH(i-1,jf,k); tbtl=(rm*dth-rt*cbt)/(dm+rt*sbt); bt1=ATAN(tbtl)
tbt (k) =TAN((bt0+bt1)/2.); IF(nn<3) GOTO 101
rr=(r(i,k)-r(i,k1))*2./(r(i,kf)-r(i,0))
wm=wmu*r (0,k1)*br(0) /r(i,k1)/br(i)*(1.+.2*rr) !suppose semi-forced vortex design
Gmd (k) =2.*pi*r(i,k)*(wm*tbt (k)+omg*r(i,k))
ENDDO
! xxxx*x Generate mesh on periodic boundaries
DO k=0,kf
DO i=i1-1,0,-1
dz=z(i+1,k)-z(i,k); rm=(r(i,k)+r(i+1,k))/2.
dr=r(i+1,k)-r(i,k); dm=SQRT(dz*dz+dr*dr)
wu=Gmu/ (2. *pi*rm)-omg*rm
wm=wmu*r (0,k1) *br(0) /r(i,k1)/br(i)
th(i,0,k)=th(i+1,0,k)-wu/wm*dm/rm
ENDDO
DO i=i2+1,if
dz=z(i,k)-z(i-1,k); rm=(r(i-1,k)+r(i,k))/2.
dr=r(i,k)-r(i-1,k); dm=SQRT(dz*dz+dr*dr)
wu=Gmd (k) / (2. *pi*rm) -omg*rm
wm=wmu*r (0,k1) *br(0) /r(i,k1)/br(i)
th(i,0,k)=th(i-1,0,k)+wu/wm*dm/rm
ENDDO
ENDDO
! *xxxxx Determine coordinates of nodal points
DO 102 i=0,if; DO 102 k=0,kf
IF(i<il.0R.i>i2)th(i,jf,k)=th(i,0,k)
th(i,jf,k)=th(i,jf,k)+pit
DO j=0,jf; t=j/FLOAT(jf); m=ixjkp+k*jp+j+1
th(i,j,k)=(1.-t)*th(i,0,k)+t*th(i,jf,k)
x(1,m)=z(i,k)
x(2,m)=r(i,k)*SIN(th(i,j,k))
x(3,m)=r(i,k)*COS(th(i,j,k))
ENDDO
102 CONTINUE
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END SUBROUTINE SETX

! sxxxxxxxxx Determine Upstream Bound Conds and Predict Downstream Bound Conds

SUBROUTINE PREDCT(z,th,r,w,wmd,if,jf,kf,mf)

DIMENSION =z(0:if,0:kf),th(0:if,0:jf,0:kf),r(0:if,0:kf),w(3,mf),wmd(0:kf)

COMMON /COND/omg,pi,nob,Gmu,wnu,ak,aMu,rhoOu /IJKP/na,il,i2,k1,jp,kp,jkp &
/SETX1/br(0:20) ,rt /PRED1/rhou,hOu,rot,pOu,flw

! xx*x*xx Determine upstream bound conds

vuu=Gmu/ (2. *pi*r(0,k1)); wuu=vuu-omg*r (0,k1)

wu =SQRT (wmu*wmu+wuu*wuu); cu =wu/aMu

hu =cuxcu/(ak-1.); hOu=hu+ (wmuw*wmu+vuu*vuu) /2. !stagnation enthalpy
rot=hu+wu*wu/2.-omg*omg*r (0,k1)*r(0,k1) /2. 'rothalpy
pOu=(ak-1.)/ak*rhoOuxhOu !stagnation pressure
flw=0.

DO k=0,kf-1

DZ=Z(0,K+1)-Z(0,K); RM=(R(0,K)+R(0,K+1))/2.
DR=R(0,K+1)-R(0,K); DS=SQRT(DZ*DZ+DR*DR)
VUU=GMU/ (2.*PI*RM) ; HU=HOU- (WMU*WMU+VUU*VUU) /2.
RHO1=RHOOU* (HU/HOU) ** (1./(AK-1.))

IF (K.EQ.K1)RHOU=RHO1 !density at mid-passage
FLW=FLW+2.*PI*RHO1*WMU*RM*DS 'mass flow rate
ENDDO

DO 110 k=0,kf; DO 110 j=0,jf; m=k*jp+j+1
w(1,m)=wmu*(r (0,kf)-r(0,0))/br(0)
w(2,m)=Gmu/ (2.*pi*xr(0,k))-omg*r(0,k)
w(3,m)=-wmu*(z(0,kf)-z(0,0)) /br(0)
110 CONTINUE
| x%**xx Predict downstream bound conds
i=if; Swmd=0.
cycle_2: DO k=0,kf
rr=(r(i,k)-r(i,k1))*2./(r(i,kf)-r(i,0))
wmd (k) =wmu*r (0,k1)*br (0) /r(i,k1)/br(i)*(1.+.2*rr) !'semi-forced vortex
IF (k==0)CYCLE cycle_2
dz=z(i,k)-z(i,k-1); rm=(r(i,k-1)+r(i,k))/2.
dr=r(i,k)-r(i,k-1); ds=SQRT(dz*dz+dr*dr)
Swmd=Swmd+ (wmd (k-1) +wmd (k) ) /2. *rm*ds
ENDDO cycle_2
dwmd=(£1w/ (2. *pi*rhou) -Swmd) / (r (i,k1) *br(i)) !flow compensation
FORALL (k=0 :kf)wmd (k) =wmd (k) +dwmd
END SUBROUTINE PREDCT

I sxxxxxxxxxx Correct Downstream Region
SUBROUTINE CORRCT(z,th,r,x,w,tbt,Gmd,wmd,if,jf,kf,mf)
DIMENSION z(0:if,0:kf),th(0:if,0:jf,0:kf),r(0:if,0:kf),x(3,mf) ,w(3,mf), &
tbt (0:kf) ,Gmd (0:kf) ,wmd(0:kf) ,w1(0:6),w2(0:6),w3(0:6),w4(0:6),al3(20)
COMMON /COND/omg,pi,nob,Gmu,wnu,ak,aMu,rhoOu /IJKP/na,il,i2,k1,jp,kp,jkp &
/DMAX/Drmax,Dthmax,DGmax ,DMmax /SETX1/br(0:20),rt &
/PRED1/rhou,hOu, rot,pOu,flw /VELC2/rho(1029)
DATA all,al2,al3/.6, .2, 2%.25, .5, 17%1./
Drmax=0.; Dthmax=0.; DGmax=0.; pit=2.*pi/nob
IF (na==1) GOTO 200
! x%*x*xx Correct k-surface in order to coincide with a vortex filament
DO k=1,kf-1; DO i=i2,if; m=i*jkp+k*jp+1
wz=w(1l,m)+w(1,m+jf)+w(1,m-jkp)+w(1l,m-jkp+jf)
wr=w(3,m)+w(3,m+jf)+w(3,m-jkp) +w(3,m-jkp+jf)
dz=z(i,k)-z(i-1,k); rn= z(i,kf)-z(i,0)
dr=r(i,k)-r(i-1,k); zn=-r(i,kf)+r(i,0) 'normal of span
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WN=Zn*wz+rn*wr; dmn=zn*dz+rnxdr 'normal components
z1=z(i-1,k)+wz*dmn/wn; Dz=all*(z1-z(i,k)) !correction pts on span
ri=r(i-1,k)+wr*dmn/wn; Dr=all*(ri-r(i,k))
Drmax=AMAX1 (Drmax,ABS(Dr))
z(i,k)=z(i,k)+Dz
r(i,k)=r(i,k)+Dr
ENDDO; ENDDO
! skxxx Correct circulation Gamma_D by the Katta condition
i=i2; j=jf
FORALL (k=0:kf)
wl(k)=z(i,k); w2(k)=th(i,0,k); w3(k)=r(i,k); wia(k)=tbt(k)
ENDFORALL
DO k=1,kf-1; dr=w3(k+1)-w3(k) !quadr interp along trailing edge
al=(r(i,k)-w3(k))/dr; am=(w3(k)-w3(k-1))/dr
cO=al*(al-1.)/am/(am+1.)
cl=-(al+am)*(al-1.)/am
c2=(al+am)*al/(am+1.)
th(i,0,k)=cO*w2(k-1)+c1*w2(k)+c2*w2(k+1)
tbt (k) =c0*wd (k-1) +c1*wd (k) +c2*xwd (k+1)
ENDDO
DO k=0,kf; m=i*jkp+k*jp+1
wz=(w(l,m)+w(1l,m+j£))/2.; wu=(w(2,m)+w(2,m+jf))/2.
wr=(w(3,m)+w(3,m+j£f))/2.; wm=SQRT (wz*wz+wr*wr)
DGmd=al2#*2.*pixr (i,k)* (wm*tbt (k)-wu)
DGmax=AMAX1 (DGmax,ABS (DGmd) )
Gmd (k) =Gmd (k) +DGmd
ENDDO
! skkxx correct trailing vortex sheet in order to coincide with vortex filaments
DO i=i2+1,if; DO k=0,kf; m=i*jkp+k*jp+1
wz=w(1l,m)+w(1,m+jf)+w(1,m-jkp)+w(1l,m-jkp+jL)
wu=w(2,m)+w(2,m+jf)+w(2,m-jkp) +w(2,m-jkp+jf)
wr=w(3,m)+w(3,m+jf)+w(3,m-jkp) +w(3,m-jkp+jf)
dz=z(i,k)-z(i-1,k); rm=(r(i-1,k)+r(i,k))/2.
dr=r(i,k)-r(i-1,k); dm=SQRT(dz*dz+dr*dr)
wn=SQRT (wz*wz+wr*wr)
thi=th(i-1,0,k)+wu/wm*dm/rm; Dth=al3(na)*(thl-th(i,0,k))
Dthmax=AMAX1 (Dthmax,ABS(Dth))
th(i,0,k)=th(i,0,k)+Dth
ENDDO; ENDDO
DO 213 i=i2,if; DO 213 j=0,jf; DO 213 k=0,kf; m=i*jkp+k*jp+j+1
th(i,j,k)=th(i,0,k)+(j/FLOAT(j£))*pit
x(1,m)=z(i,k)
x(2,m)=r(i,k)*SIN(th(i,j,k))
x(3,m)=r(i,k)*C0OS(th(i,j,k))
213 CONTINUE
I x%*x*xx Correct downstream meridian velocities w_mD
200 nn=0; nnmax=10; i=if
220 nn=nn+1; Srhowm=0.; Srho=0.
DO k=k1-1,0,-1
rm=(r(i,k)+r(i,k+1))/2.; g0=Gmd(k); gl=Gmd(k+1)
wmd (k) =wmd (k+1) - (omg/pi* (g1-g0) - (gl*gl-g0*g0) /(4. *pi*pi*rm*rm) )/ (wmd (k) +wmd (k+1))
ENDDO
DO k=k1+1,kf
rm=(r(i,k-1)+r(i,k))/2.; g0=Gmd(k); gl=Gmd(k-1)
wmd (k) =wmd (k-1) +(omg/pi* (g0-g1) - (g0*gO-gl*gl) / (4. *pi*pi*rm*rm) )/ (wmd (k-1) +wmd (k))
ENDDO
DO k=1,kf; m=if*jkp+(k+1)*jp
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dz=z(i,k)-z(i,k-1); rm=(r(i,k-1)+r(i,k))/2.
dr=r(i,k)-r(i,k-1); ds=SQRT(dz*dz+dr*dr)
rhom=(rho (m-jp)+rho(m))/2.; IF(na.EQ.1)rhom=rhou
Srhowm=Srhowm+rhom* (wmd (k-1) +wmd (k) ) /2. *rm*ds
Srho =Srho +rhom*rm*ds
ENDDO
Dwmd=(£f1w/(2.*pi)-Srhowm)/Srho
FORALL (k=0: kf)wmd (k) =wmd (k) +Dwmd
IF (nn>nnmax) STOP ’difficult to obtain meridian velocity at downstream boundary’
IF(ABS(Dwmd)>.001.0R.nn<3) GOTO 220
DO k=0,kf; DO j=0,jf; m=if*jkp+k*jp+j+1
w(1l,m)= wmd(k)*(xr(i,kf)-r(i,0))/br(i)
w(2,m)= Gmd(k)/(2.*pi*r(i,k))-omg*r(i,k)
w(3,m)=-wmd (k) *(z(i,kf)-z(i,0))/br(i)
ENDDO; ENDDO
END SUBROUTINE CORRCT

! skkkxkxxxxx Set up Coefficient Matrix of Linear Equations

SUBROUTINE COEF(x,if,jf,kf,mf)

DIMENSION x(3,mf),psixi(3,8),aJm(3,3),psix(3,8),sign(3,8),aw(3),iw(3)

COMMON /IJKP/na,il,i2,k1,jp,kp,jkp /COEF1/H(1029,-57:62),aJ(8,720), &
nm(8,720) ,1b,1f ,nf

lb=-jkp-jp-1; 1lf=jkp+jp+jf; nO=jfxkf; nf=ifxjfxkf

! *x**x*x Determine node numbers of each elements

n=0; m=0; 300 n=n+1; m=m+1

nm(1,n)=m; nm(2,n)=m+jkp; nm(3,n)=m+1; nm(4,n)=m+jp

nn(5,n)=m+jp+1l; nm(6,n)=m+jkp+jp; nm(7,n)=m+jkp+1; nm(8,n)=nm(6,n)+1

IF(MOD(n, j£)==0)m=m+1

IF(MOD(n,n0)==0)m=m+jp; IF(n<nf) GOTO 300
! xxxxx Set up coefficient matrix H
g=1./1.732

DATA sign/-1,-1,-1, 1,-1,-1, -1, 1,-1, -1,-1, 1, &
-1, 1,1, 1,-1,1, 1, 1,-1, 1,1, 1/
FORALL (m=1:mf,1=1b:1f)H(m,1)=0.
DO n=1,nf; DO k=1,8
DO 1=1,8
psixi(1,1)=sign(1,1)*(1.+sign(2,1)*sign(2,k)*g)*(1.+sign(3,1)*sign(3,k)*g)/8.
psixi(2,1)=sign(2,1)*(1.+sign(3,1)*sign(3,k)*g)*(1.+sign(1,1)*sign(1,k)*g)/8.
psixi(3,1)=sign(3,1)*(1.+sign(1,1)*sign(1,k)*g)*(1.+sign(2,1)*sign(2,k)*g)/8.
ENDDO
DO i=1,3; DO j=1,3; aJm(i,j)=0.; DO 1=1,8
aJm(i,j)=aJm(i,j)+psixi(i,1)*x(j,nm(1,n))
ENDDO; ENDDO; ENDDO
aJ(k,n)=1.; e=1.E-5
CALL MATINV(aJm,aw,iw,3,aJ(k,n),e)
DO i=1,3; DO 1=1,8; psix(i,1)=0.; DO j=1,3
psix(i,1)=psix(i,1)+aJm(i,j)*psixi(j,1)
ENDDO; ENDDO; ENDDO
DO me=1,8; m=nm(me,n)
DO le=1,8; 1l=nm(le,n)-m; DO i=1,3
H(m,1)=H(m,1)+aJ(k,n)*psix(i,me)*psix(i,le)
ENDDO; ENDDO; ENDDO
ENDDO; ENDDO
! sk%xx Take account of Dirichlet bound cond
FORALL (m=1: jkp,1=1b:1f)H(m,1)=0. lupstream bound
FORALL (m=1: jkp)H(m,0)=1.
! sk*xx Take account of periodic bound conds
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cycle_3: DO i=1,if; IF(i>il.AND.i<i2)CYCLE cycle_3 !periodic bound j=0
DO k=0,kf; m=i*jkp+k*jp+1
DO 303 ii=-1,1; DO 303 jj=-1,0; DO 303 kk=-1,1
IF(i+1i<0.0R.i+ii>if) GOTO 303
IF (k+kk<0.0R.k+kk>kf) GOTO 303
1=ii*jkp+kk*jp+] ]
H(m,1+jf)=H(m+jf,1)
303 CONTINUE
ENDDO
ENDDO cycle_3
cycle_4: DO i=1,if; IF(i>il.AND.i<i2)CYCLE cycle_4 !periodic bound jf
DO k=0,kf; m=i*jkp+(k+1)*jp
FORALL(1=1b:1f)H(m,1)=0.
H(m,0)=1.; H(m,-jf)=-1.
ENDDO
ENDDO cycle_4
END SUBROUTINE COEF

I skekkxxkkokkk Solve Finte Element Eqns of phi by Gaussian Elimination
SUBROUTINE CALPHI(z,th,r,x,phi,Gmd,wmd,if,jf,kf,mf)
DIMENSION z(0:if,0:kf) ,TH(0:1if,0:jf,0:kf),r(0:1if,0:kf) ,x(3,mf) ,phi(mf),Gmd(0:kf) ,wmd(0:kf), &
sign(3,8),psik(8) ,nmd (4,36) ,nmb(4,48),v(3,0:6),signb(2,4) ,psikb(4) ,psixi(2,4),tJ(2,3)
COMMON /COND/omg,pi,nob,Gmu,wmu,ak,aMu,rhoOu /IJKP/na,il,i2,k1,jp,kp,jkp &
/COEF1/H(1029,-57:62) ,aJ(8,720) ,nm(8,720) ,1b,1f,nf /CALB1/b(1029)
n0=jf*kf; nb=(i2-i1)x*kf
! xx*x*xx Set up rhs of linear eqns
g=1./1.732
DATA sign/-1,-1,-1, 1,-1,-1, -1, 1,-1, -1,-1, 1, &
-1, 1,1, 1,-1,1, 1, 1,-1, 1, 1, 1/
FORALL (m=1:mf) phi (m)=0.
DO n=1,nf; DO k=1,8
FORALL(1=1:8)psik(1)=(1.+sign(1,1)*sign(1,k)*g)*(1.+sign(2,1)*sign(2,k)*g) &
*(1.+sign(3,1)*sign(3,k)*g) /8.
DO me=1,8; m=nm(me,n); DO le=1,8; l=nm(le,n)
phi(m)=phi (m)-aJ (k,n) *psik (me) *psik(le) *b(1)
ENDDO; ENDDO
ENDDO; ENDDO
I x%%x*xx Take account of Dirichlet condition
DO k=0,kf; DO j=0,jf; m=k*xjp+j+1 'upstream bc
phi(m)=1.-Gmu/(2.%pi)*(th(0,j,k)-th(0,0,0))
ENDDO; ENDDO
! xxxxx Take account of Neumann condition at downstream boundary
n=0; m=if*jkp; 310 n=n+1; m=m+1
nmd(1,n)=m; nmd(2,n)=m+1; nmd(3,n)=m+jp; nmd(4,n)=m+jp+1
IF(MOD(n, j£)==0)m=m+1; IF(n<nO) GOTO 310
DO k=0,kf
dz=z(if ,k)-z(if-1,k); dr=r(if,k)-r(if-1,k); dm=SQRT(dz*dz+dr*dr)
v(1,k)=(dz/dm) *wmd (k)
v(2,k)=Gmd (k) /(2. *pi*r(if,k))
v(3,k)=(dr/dm) *wmd (k)
ENDDO
DATA signb/-1,-1, 1,-1, -1,1, 1,1/
DO n=1,n0; DO k=1,4
FORALL(1=1:4)
psikb(1)=(1.+signb(1,1)*signb(1,k)*g)*(1.+signb(2,1)*signb(2,k)*g) /4.
psixi(1,1)=signb(1,1)*(1.+signb(2,1)*signb(2,k)*g)/4.
psixi(2,1)=signb(2,1)*(1.+signb(1,1)*signb(1,k)*g) /4.
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ENDFORALL

FORALL(i=1:2,3j=1:3)tJ(i,j)=0.

DO j=1,3; DO 1=1,4
tJ(1,3)=tJ(1,j)+psixi(1,1)*x(j,nmd(1,n))
tJ(2,3)=tJ(2,j)+psixi(2,1)*x(j,nmd(1,n))

ENDDO; ENDDO

DO le=1,4; l=nmd(le,n); jO=MOD(1-1,jp); k0=MOD((1-1)/jp,kp)
costh=C0S(th(if,jO0,k0)); sinth=SIN(th(if,jO,k0))
vi=v(1,k0); v2= v(2,k0)*costh+v(3,k0)*sinth

v3=-v(2,k0)*sinth+v(3,k0) *costh
vtJ=vix(tJ(1,2)*tJ(2,3)-tJ(2,2)*tJ(1,3)) &
+r2x (£J(1,3)*tJ(2,1)-tJ(2,3)*tJ(1,1)) &
+r3x (£J(1,1)*tJ(2,2)-tJ(2,1)*tJ(1,2))
DO me=1,4; m=nmd(me,n)
phi(m)=phi(m)-psikb(me)*psikb(le)*vtJ
ENDDO
ENDDO
ENDDO; ENDDO
! sk*xx Take account of Neumann condition on blade surfaces
n=0; m=il*jkp+1-jp; 311 n=n+1; m=m+jp
nmb(1,n)=m; nmb(2,n)=m+jkp; nmb(3,n)=m+jp; nmb(4,n)=m+jkp+jp
IF(MOD(n,kf)==0)m=m+jp; IF(n<nb) GOTO 311
j0=0; signO=-1.
320 CONTINUE
DO n=1,nb; DO k=1,4

FORALL(1=1:4)
psikb(1)=(1.+signb(1,1)*signb(1,k)*g)*(1.+signb(2,1)*signb(2,k)*g) /4.
psixi(1,1)=signb(1,1)*(1.+signb(2,1)*signb(2,k)*g) /4.
psixi(2,1)=signb(2,1)*(1.+signb(1,1)*signb(1,k)*g)/4.

ENDFORALL

FORALL(i=1:2,3j=1:3)tJ(i,j)=0.

DO j=1,3; DO 1=1,4
tJ(1,3)=tJ(1,j)+psixi(1,1)*x(j,nmb(1,n))
tJ(2,3)=tJ(2,j)+psixi(2,1)*x(j,nmb(1,n))

ENDDO; ENDDO

DO le=1,4; l=nmb(le,n); i0=(1-1)/jkp; k0=MOD((1-1)/jp,kp)
v2= omg*r (i0,k0)*COS(th(i0,j0,k0))
v3=-omg*r (10,k0) *SIN(th(i0, jO,k0))
vtJ=v2* (tJ(1,3)*tJ(2,1)-tJ(2,3)*tI(1,1) ) +v3*(tJ(1,1)*tJ(2,2)-tJ(2,1)*tI(1,2))
DO me=1,4; m=nmb(me,n)

phi (m)=phi (m) +signO*psikb(me) *psikb(le) *vtJ

ENDDO; ENDDO
ENDDO; ENDDO
FORALL(1=1:4,n=1:nb)nmb(1,n)=nmb(1,n)+jf
jO=jO+jf; signO=1.; IF(jO==jf) GOTO 320
! skxxx Take account of periodic conds
cycle_5: DO i=1,if; IF(i>i1.AND.i<i2)CYCLE cycle_5

DO k=0,kf; m=ixjkp+k*jp+1

phi (m)=phi (m) +phi (m+jf) 'periodic bc j=0
m=m+jf; IF(i<=i1)phi(m)=-Gmu/nob 'periodic bc jf
IF(i>=i2)phi (m)=-Gmd (k) /nob !periodic bc jf
ENDDO

ENDDO cycle_5

! sk%xx Determine potential phi solving linear eqns by Gaussian elimination
CALL GAUSSB(H,phi,mf,1b,1f,det)

END SUBROUTINE CALPHI

53
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I skekskkkskkokokk Compute Velocities

SUBROUTINE VELCTY(th,r,x,phi,w,aM,p,Gmd,if,jf,kf,mf)

DIMENSION th(0:if,0:jf,0:kf),r(0:1if,0:kf),x(3,mf) ,phi(mf) ,w(3,mf),aM(mf) ,p(mf), &

Gmd (0:kf) ,neb(14,1029) ,bphi(14),psi(9,14),c(3),a(9,9),aw(9),iw(9)

COMMON /COND/omg,pi,nob,Gmu,wmu,ak,aMu,whoOu /IJKP/na,il,i2,k1,jp,kp,jkp &
/DMAX/Drmax ,Dthmax,DGmax,DMmax /VELC1/cc(1029),h(1029) /VELC2/rho(1029) &
/SETX1/br(0:20) ,rt /PRED1/rhou,hOu,rot,pOu,flw

DATA alb5/.25/

DMmax=0.; pit=2.*pi/nob

! sk*xx Determine neighbouring point numbers of each nodes

CALL SETNEB(neb,if,jf,kf,mf)

OPEN(20,FILE=’0UTPUT.DAT’)

! skkxx Compute relative velocities w

DO m=1+jkp,mf-jkp; mO=m 10<i<kif

i=(m-1)/jkp; j=MOD(m-1,jp); k0=MOD((m-1)/jp,kp)

DO k=1,14; mk=neb(k,m0)
ki=(mk-1)/jkp; kj=MOD(mk-1,jp); kk=MOD((mk-1)/jp,kp)
bphi (k)=phi (mk) -phi (m0)

FORALL(1=1:3)psi(1,k)=x(1,mk)-x(1,m0)

IF(i>=il1.AND.i<=i2)THEN

ELSEIF (j==0.AND.kj==jf-1) THEN
IF(i<il)bphi(k)=bphi (k) +Gmu/nob !periodic bound j=0
IF(i>i2)bphi (k) =bphi (k) +Gmd (kk) /nob
psi(2,k)=r(ki,kk)*SIN(th(ki,kj,kk)-pit)-x(2,m0)
psi(3,k)=r(ki,kk)*C0OS(th(ki,kj,kk)-pit)-x(3,m0)

ELSEIF (j==jf.AND.kj==1) THEN
IF(i<i1)bphi (k)=bphi (k) -Gmu/nob !periodic bound jf
IF (i>i2)bphi (k)=bphi (k) -Gmd (kk) /nob
psi(2,k)=r(ki,kk)*SIN(th(ki,kj,kk)+pit)-x(2,m0)
psi(3,k)=r(ki,kk)*COS(th(ki,kj,kk)+pit)-x(3,m0)

ENDIF

DO 11=1,3; 12=M0OD(11,3)+1; 13=MOD(12,3)+1
psi(11+3,k)=  psi(11,k)*psi(1l1,k)
psi(11+6,k)=2.*psi(12,k)*psi(13,k)

ENDDO

ENDDO

DO 401 n=1,9; DO 401 1=1,9; a(n,1)=0.; DO 401 k=1,14
wt=psi(4,k)+psi(5,k)+psi(6,k); wt=1./wt/wt/wt
a(n,l)=a(n,l)+wt*psi(n,k)*psi(l,k)

401 CONTINUE

nf=9; e=1.E-5

CALL MATINV(a,aw,iw,nf,det,e)

DO 402 1=1,3; c(1)=0.; DO 402 n=1,9; DO 402 k=1,14
wt=psi(4,k)+psi(5,k)+psi(6,k); wt=1./wt/wt/wt
c(1)=c(1)+a(l,n)*wt*psi(n,k)*bphi (k)

402 CONTINUE

costh=C0S(th(i,j,k0)); sinth=SIN(th(i,j,k0))

w(1l,m)=-c(1) 'w_z

w(2,m)=-c(2)*costh+c(3)*sinth-omg*r (i,k0) lwv_u

w(3,m)=-c(2)*sinth-c(3)*costh lw_r
ENDDO

! skkxx Compute Mach number aM and static pressure p
DO m=1,mf; i=(m-1)/jkp; k0=MOD((m-1)/jp,kp)
wW =w(1,m)*w(1,m)+w(2,m)*w(2,m)+w(3,m)*w(3,m)
ccl  =(ak-1.)*(rot-ww/2.+omg*omg*r (i,k0)*r(i,k0)/2.)
IF (na==1)THEN; cc(m)=ccl
ELSE; cc(m) =cc(m)+al5*(ccl-cc(m)); ENDIF
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aM1i  =aM(m)
aM(m) =SQRT(ww/cc(m))
DMmax =AMAX1(DMmax,ABS(aM1-aM(m)))
h(m) =cc(m)/(ak-1.); akl=ak/(ak-1.)
p(m) =pOu*(h(m)/hOu)**akl
rho (m)=akl*p(m) /h(m)
IF (na==1)rho (m)=rhou+. 5% (rho (m) -rhou)
ENDDO
! xxxxx Take mean values of p at leading and trailing edges
DO k=0,kf; m=ilxjkp+k*jp+1
p(m)=(p(m)+p(m+j£))/2.; p(m+jf)=p(m)
m=1i2*jkp+k*jp+1
p@m)=(p(m)+p(m+j£))/2.; plm+jf)=p(m)
ENDDO
END SUBROUTINE VELCTY

I sekkkxkkokkk Compute rhs of Linear Egns
SUBROUTINE CALB(th,r,x,w,if,jf,kf,mf)

!relative Mach number

!static enthalpy
!'static pressure
!density

DIMENSION th(0:if,0:jf,0:kf),r(0:1if,0:kf),x(3,mf) ,w(3,mf) ,neb(14,1029),bh(14), &

psi(9,14),c(3),a(9,9),aw(9),iw(9)

COMMON /COND/omg,pi,nob,Gmu,wnmu,ak,aMu,rhoOu /IJKP/na,il,i2,k1,jp,kp,jkp &

/CALB1/b(1029) /VELC1/cc(1029),h(1029)
CALL SETNEB(neb,if,jf,kf,mf)
pit=2.*pi/nob
DO m=1+jkp,mf-jkp; mO=m
i=(m-1)/jkp; j=MOD(m-1,jp); k0=MOD((m-1)/jp,kp)
DO k=1,14; mk=neb(k,m0)
ki=(mk-1)/jkp; kj=MOD(mk-1,jp); kk=MOD((mk-1)/jp,kp)
bh (k) =h (mk) -h (m0)
FORALL(1=1:3)psi(1,k)=x(1,mk)-x(1,m0)
IF(i>=il1.AND.i<=i2) THEN
ELSEIF (j==0.AND.kj==jf-1) THEN
psi(2,k)=r(ki,kk)*SIN(th(ki,kj,kk)-pit)-x(2,m0)
psi(3,k)=r(ki,kk)*C0OS(th(ki,kj,kk)-pit)-x(3,m0)

ELSEIF (j==jf.AND.kj==1) THEN
psi(2,k)=r(ki,kk)*SIN(th(ki,kj,kk)+pit)-x(2,m0)
psi(3,k)=r(ki,kk)*COS(th(ki,kj,kk)+pit)-x(3,m0)

ENDIF

DO 11=1,3; 12=M0OD(11,3)+1; 13=MOD(12,3)+1
psi(11+3,k)=  psi(11,k)*psi(11,k)
psi(11+6,k)=2.%psi(12,k) *psi(13,k)

ENDDO

ENDDO

DO 411 n=1,9; DO 411 1=1,9; a(n,1)=0.; DO 411 k=1,14
wt=psi(4,k)+psi(5,k)+psi(6,k); wt=1./wt/wt/wt
a(n,l)=a(n,l)+wt*psi(n,k)*psi(l,k)

411 CONTINUE

nf=9; e=1.E-5

CALL MATINV(a,aw,iw,nf,det,e)

DO 412 1=1,3; c(1)=0.; DO 412 n=1,9; DO 412 k=1,14
wt=psi(4,k)+psi(5,k)+psi(6,k); wt=1./wt/wt/wt
c()=c(1)+a(l,n)*wt*psi(n,k)*bh(k)

412 CONTINUE

costh=C0S(th(i,j,k0)); sinth=SIN(th(i,j,k0))

w2= w(2,m)*costh+w(3,m) *sinth

w3=-w(2,m)*sinth+w(3,m) *costh

b(m)=(w(1,m)*c(1)+w2*c(2)+w3*c(3))/cc(m)

!periodic bound j=0

!periodic bound jf
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ENDDO
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END SUBROUTINE CALB

! soksokkokxokk SUBSIDIARY SUBROUTINES
! xdokkkkokkkk Determine Neighbouring Nodal Points
SUBROUTINE SETNEB(neb,if,jf,kf,mf)
INTEGER neb(14,mf)

COMMON /IJKP/na,il,i2,k1,jp,kp,jkp

DO 10 k=1,14

SELECT CASE(k)
CASE(1,7,8,11,12); ii=-1;

ENDSELECT

SELECT CASE(k)

CASE(3,7:10)
ENDSELECT

SELECT CASE(k)
CASE(5,7,9,11,13); ik=-1;

ENDSELECT

CASE(3:6)

3 1j=-1;

CASE(:4)

DO m=1+jkp,mf-jkp
neb(k,m)=m+ii*jkp+ij+ik*jp

ENDDO
10 CONTINUE

DO 11 i=1,if-1; DO 11 j=0,jf; m=i*jkp+j+1
neb( 5,m)=m+3%*jp;
neb( 9,m)=neb(5,m)-jkp;
neb(13,m)=neb(5,m)+jkp;
neb( 6,m)=m-3*jp;
neb(10,m)=neb(6,m)-jkp;

m=m+jp*kf

neb(14,m)=neb(6,m)+jkp

11 CONTINUE

; 1i=0;

CASE(1,2,5,6); 1j=0;

; 1ik=0;

neb( 7,m)=neb(5,m)-1
neb(11,m)=neb(5,m)+1

neb( 8,m)=neb(6,m)-1
neb(12,m)=neb(6,m)+1

DO 12 i=i1,i2; DO 12 k0=0,kf; m=i*jkp+kO*jp+1

neb(3,m)=m+3;

IF(k0/= 0)
IF (k0/=kf)
neb(4,m)=m-3;

IF(k0/= 0)
IF (k0/=kf)
12 CONTINUE

neb( 7,m)=neb(3,M)-jkp
neb( 8,m)=neb(3,M)+jkp
neb( 9,m)=neb(3,M)-jp

neb(10,m)=neb(3,M)+jp; m=m+jf

neb(11,m)=neb(4,M)-jkp
neb(12,m)=neb(4,M)+jkp
neb(13,m)=neb(4,M)-jp
neb(14,m)=neb(4,M)+jp

cycle_1: DO i=1,if-1
IF(i>=i1.AND.i<=i2)CYCLE cycle_1
DO k0=0,kf; DO k=1,14; m=ixjkp+kO*jp+1

IF(MOD(neb(k,m) , jp)==0)neb(k,m)=neb(k,m)+jf; m=m+jf

IF(MOD(neb(k,m), jp)==1)neb(k,m)=neb(k,m)-jf

ENDDO; ENDDO
ENDDO cycle_1

END SUBROUTINE SETNEB

I kkskkkkkkkk Print of Data on Meridian Plane
SUBROUTINE WRTF2(f,z1,isf)
DIMENSION £(0:20,0:6)

COMMON /IJKP/na,il,i2,k1,jp,kp,jkp
CHARACTER*8 z1; CHARACTER*4 form(7),area(7)
DATA form/’(1H ’,’2X I°,°2,4X’,’ 21(C’,’
DATA area/’ -3P’,’ -2P’,’ -1P’,’ 2,
OPEN (20,FILE="0UTPUT.DAT’)

1P’ ,>

CASE DEFAULT; ii=1
CASE DEFAULT; ij=1

CASE DEFAULT; ik=1

10<i<if

lon hub

'on casing

'on blade
!pressure side

!suction side

!periodic bound

13=0
1jf

’,’F7.3’,’)) )/

2P’

3p’/
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WRITE(20,60)z1,na

form(5)=area(isf+4)

DO k=6,0,-1; WRITE(20,form)k, (f(i,k),i=0,20); ENDDO
WRITE(20,61) (i,i=0,20)

60 FORMAT(//1H 10X ’x * * >, A8, > * *x %’ 10X ’na =’, I3/)
61 FORMAT(1H 2X ’k/i=’, 21I7)

62 FORMAT(1H 2X I2, 4X 21F7.3)

END

I sskkkkxkkkx Print of 3D Data
SUBROUTINE WRTF3(f,z1,isf)
DIMENSION f(1029),ff(0:20,0:6)
COMMON /IJKP/na,il,i2,k1,jp,kp,jkp
CHARACTER*8 z1; CHARACTER*4 form(7),area(7)
DATA form/’(1H ’,’2X 1’,°2,4X’,’ 21(C’,’ > ,’F7.37,)) 7/
DATA area/’ -3P’,’ -2P’,’ -1P’ )’ ’,? 1p’,’ 2P’,’ 3P’/
OPEN (20,FILE=’0UTPUT.DAT’)
WRITE(20,60)z1,na
form(5)=area(isf+4)
DO k=6,0,-1
FORALL (i=0:20,j=0:6)££(i,j)=f (i*jkp+k*jp+j+1)
DO j=6,0,-1; WRITE(20,form)j,(ff(i,j),i=0,20); ENDDO
WRITE(20,61) (i,i=0,20)
WRITE(20,62)k

ENDDO

60 FORMAT(//1H 10X ’* x x >, A8, > * x x’, 10X ’na =’, I3/)
61 FORMAT(1H 2X ’j/i=’, 21I7)

62 FORMAT(1H 60X 'k =’, I2/)

END

I skekkkkskkokkk Solution of Simultaneous Linear Eqns Having Reduced Array by Gaussian Elimination

SUBROUTINE GAUSSB(a,b,n,m1,m2,det)
DIMENSION a(n,ml1:m2),b(n)
det=1.
cycle_1: DO k=1,n; i2=MINO(n,k-m1); j2=MINO(m2,n-k)
det=a(k,0)*det
b(k)=b(k)/a(k,0); IF(k==n)CYCLE cycle_1
FORALL(j=1:j2)a(k,j)=a(k,j)/a(k,0)
DO i=k+1,i2; jO=k-i
b(i)=b(i)-a(i,jO)*b(k)
FORALL(j=1:j2)a(i,j+k-i)=a(i,j+k-i)-a(i,jO)*a(k,j)
ENDDO
ENDDO cycle_1
DO i=n-1,1,-1; j2=MINO(m2,n—I)
DO j=1,j2
b(i)=b(i)-a(i,j)*b(i+j)
ENDDO
ENDDO
END

I sekskxkkkokkk Matrix Inversion by Gauss-Jordan Reduction
SUBROUTINE MATINV(a,aw,iw,n,det,e)
DIMENSION a(n,n),aw(n),iw(n)
det=1.; e=AMAX1(e,1.E-5); FORALL(k=1:n)iw(k)=k
DO k=1,n
w=a(k,k); IF(ABS(w)>e) GOTO 21
1=k; 22 1=1+1; IF(1>n)STOP 5555
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w=a(l,k); IF(ABS(w)<=e) GOTO 22

FORALL(j=1:n)
aw(j)=a(k,j); a(k,j)=a(l,j); a(l,j)=aw(j)

ENDFORALL

iwO=iw(k); iw(k)=iw(1l); iw(1l)=iw0

det=-det; 21 det=w*det

a(k,k)=1.

FORALL(j=1:n)a(k,j)=a(k,j)/w

cycle_1: DO I=1,N; IF(i==k)CYCLE cycle_1
w=a(i,k); a(i,k)=0.
FORALL(j=1:n)a(i,j)=a(i,j)-w*a(k,j)

ENDDO cycle_1

ENDDO
cycle_2: DO j=1,n; 1=j; IF(iw(j)==j)CYCLE cycle_2
23 1=1+1; IF(iw(1)/=j) GOTO 23

FORALL(i=1:n)
aw(i)=a(i,j); a(i,j)=a(i,l); a(i,l)=aw(i)
ENDFORALL
iw(1)=iw(j)
ENDDO cycle_2
END

0000000000000 00000000o0ooOUD IpOOOO (11.61)000 V000000
bobooooooooooooooooooooboooooboooobobobOobobOoboboboon
ooood

x10*
na | Drmax Dthmax DGmax DMmax
1 — — — 10152
2 61 230 4225 1188
3 25 648 1677 1679
4 23 2892 2468 449
5 9 964 749 182
6 6 354 558 161
7 4 580 289 69
8 4 101 227 68
9 4 239 233 42
10 4 94 125 38
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